Email to the Class Just Prior to the Start of the Semester –

Ms. Conrad,
 

Glad to see you are enrolled in POSC 550.  I hope you are having a good holiday season.  As you will see over the early weeks of POSC 550, beginning your term paper before the semester begins is a real "plus."  So, if you have some time before the semester begins and want to do something that will be of great value to you, follow the enclosed attachment entitled “550BeforeClassBegins.” The attachment is in Adobe Acrobat.  If you don’t have Adobe Acrobat on your computer you can download a free copy from www.adobe.com (click on “Get Adobe Reader”). Read the entire attachment before attempting anything. You can do everything mentioned in the attachment “online.”  Thus, you do not need the 550 Coursepack (which will be available shortly in the CSULB bookstore) or any other non-internet source to work through what is provided in “550BeforeClassBegins.”  If you have access to the internet, that’s sufficient.  I’d urge you to go through the material in enclosed attachment.  Starting the project early, and building a relationship with a practitioner (such as outlined in the enclosed attachment) can be of tremendous value to your career. If you really want t help yourself, read the enclosed attachment from beginning to end.  As you soon, getting started early is a tremendous advantage.   
As you’ll findout during the semester, I encourage you to call me at home with your questions.  Since the class meets at night, office hours aren’t really helpful.  I don’t stay around after class.  We all need to go home and get sleep to be effective the next day.  So, the many home phone office hours (over 20 per week) is the best method of discussing class material with me.  Email is not a good procedure for asking and answering questions.  It’s much easier and faster to talk than type.  Also, a phone conversation affords the opportunity to ask questions based upon the other person’s responses.  Email doesn’t offer such an interactive process.  During the break you should be able to reach me any day from 2 p.m. to 5 p.m. at 562-597-7287.  It’s a landline phone without a message machine that I plug in just during those hours.  If you don’t reach me the first time, try again in a few minutes.  I might be out getting the mail, etc.  

One last item that is important to mention: make sure you buy the Spring 2011 Coursepack.  There have been many changes since the Spring 2010 Coursepack.  If you try to use any of the coursepacks from previous semesters you will have great difficulty the entire semester.  Many of the pages have changed while many others have been renumbered.  Thus, if you use an old coursepack you will great difficulty following the discussions in class and may well do the wrong assignments.  Keep in mind that you are responsible for the current material.  Thus, it is not a valid excuse to use material from previous semesters and then claim that you were simply following the coursepack. You are responsible for Spring 2011’s material, not material from previous semesters.  Thus, buy the 2011 550 Coursepack! 

                                                           Best Wishes,

                                                           Chris Dennis       
                                                           cdennis@csulb.edu
Due to the furlough program we have to have our furlough days “approved.”  I’ve submitted my proposed schedule.  Once it has been “approved” I’ll send you a copy of the course syllabus.  Look forward to meeting you January 25th.  

Lesson Plan – Week 1

Before First Meeting: Make sure to e-mail each student and tell them to 

bring the coursepack to the first meeting.

Week 1

>>> Begin by Administering the Assessment Test

1. You may or may not call out name and writing down  their 

subfields of concentration.
I. Explain the Need for the Course

A. Theory/Applied Distinction Isn’t as Important as Often Thought - How Do We Obtain Knowledge and Apply It?  Both the Information that Political Scientist’s Generate and the Means by Which They Generate their Information is Very Similar to What Practitioners Do.
B. Quantitative Analysis in Political Science and their Likely Career



a. Why Quantitative Research in Political Science?




1. What we expect to occur doesn’t always happen.





Thus, we need to test to see if our theories





are correct.

2. Even if our “hunches” are confirmed, only 

quantitative research can tell us the magnitude of the relationship? 

a. Thus, if you think that we don’t need to test to 

see if the poor will fare better under liberal than conservative parties I have three responses.

1. The relationship might not be as you 

expect.






2. Even if our hunch is correct, without

empirical testing, how would you know how much the poor gain under liberal parties? 

3. Without testing, how would you be able 

to know when the size of the 

impact increased or decreased, and by how much? Or the form of the
relationship (e.g., nonlinear, interactive, etc.)

b. Reading Knowledge of Political Science

c. Ability to Undertake and understand research. 

d. Even those who do not think they’ll ever use statistics are 

often wrong (e.g., Frank Baber/Dwight Waldo).

1. You’re interests may change as you learn the

opportunities quantitative work offers.


e. Non-quantitative research (e.g., case studies) contains the 

same problems as quantitative researchers (e.g., you need to think in terms of independent and dependent variables – you need variation – can’t study all “successful” cases, the function form of the relationship – linear/nonlinear, interactive, etc. 

1. Thus, you need to formulate (and in our case test) a 

model – that one, or several, independent variables (attributes about senators) influence a dependent variable (whether the senator voted “yes” or “no”).  In your term paper, what you will be trying to explain is why senators voted as they did (not why the senate passed or defeated a bill)


f. POSC 550 isn’t a “Real” statistics course – i.e., we’re 

interested in building models, creating measures for those models and testing the models empirically, not in proving why a particular formula reads as it does.
II. Purpose/Structure of the Term Paper (Policy) 
A.Fundamental Question: What is your career

goal and why is an M.A. in Political Science the best method to achieve it? 
1. If you ask the above question you get “scary” answers.
2. Shelagh Hoffman – Wanted to work in state government – not only did she not know that CSULB has a Graduate Program in Public Policy and Administration to prepare someone for a career in state or local government, she didn’t even know such degrees were offered anywhere.
3. Cost of the Degree: (1) opportunity costs – unearned income – e.g. Renee Cramer – Car/Housing – If buying a $25,000 car prohibited her family from putting the down payment on a house that was increasing $50,000 per year, did the car cost $25,000 or $75,000? (you could make a good case for $75,000)
B. Although You May Not Be Thinking This Way Now, You 
Need to View this Degree as a Potential “Terminal Degree.”
1. Patsy Teaford – thought she wanted to go into a doctoral program – worked 6 months on a paper that was presented at the Midwest Political Science Association before professors at schools she was applying to.  The paper was well received, including APQ editor Jim Garand asking her to submit the paper to his journal.  She didn’t want to spend the time to make the changes he suggested.  So, I asked her: If she can’t work on this project more than 6 months, how is she going to complete a dissertation – which is likely to take over a year?  She thought the same thing and never applied. 

a. If you are after a doctorate, this is good option to pursue for a directed readings or to have me customize a set of readings/statistical operations to groom as a particular person’s research assistant – that will help you get your name on articles and launch your career – e.g., Ben Bishin

2. Ron Newcomb – UGA – Theorist who realized he’d get a job at a small liberal arts school like where I started – Fort Hays State University – high teaching load – little research opportunity – which meant he’d have little mobility – so his only options would be to stay or quite the profession – never completed his dissertation and became an Atlanta city council member – Fewer than 1/3 of those beginning a doctoral program will earn the degree and many of those will not land permanent positions in academics
3. Stephanie Crahen – theorist who spent three years earning her M.A., didn’t score high enough on the GRE to get into a decent doctoral program so she left the country without a paper that she could use to apply for a job
4. Ryan Hiscocks – Did well in this class (bottom of the top 1/3) and well in the program – however, the M.A. did not get him out of being a baggage handler for Jet Blue – I still get messages about every 6 months from him wanting to undertake the type paper you’ll be doing on education policy.  

5. Sean Forbes – Works writing adds and leases for apartments – had very good ability – wanted to work for local government – his employer wanted him because they felt that a person with an M.A. in Political Science would be able to write well – okay – But, is he realizing his goal of working for a local government?  NO! 
a. Forbes will likely not pursue another degree because he will undertake a life style that requires more money/will “satisfice” – due to not pursing 599 – into a less desirable career

b. Jose Martinez got a “B” in 550 but his drive/willingness for 599 will give him a better career than Forbes.

6.High School Teachers – High burnout rate
C. The “Good Thinking Generalist” is the Right Model, But You Need an Example that Shows You Can Apply Good Thinking and Knowledge of Analytical Skills, Including Statistics, To “Real-World” Problems that Organizations Face and Write in Manner That Governmental and Business Organizations Employ. 

1. Why Policy Analysis? Because society, government and business/private organizations must have policies in order to attain their goals.
D. Examine the Sample Term Paper  - At the End of the Syllabus

1.If you Don’t Have the Predictors (e.g., prestigious/technical degree) 

then You Need Performance (i.e., the paper in this course plus what I’ll call the “practitioner letter).”

2. The writing is that which is the non-technical style used by 

practitioners (e.g., “Executive Summary, etc.)


a. The paper is written for three audiences: (1) executive who 

are likely “generalists” (e.g., an agency head, city manager, mayor or CEO) because the technical terms are explained and only referred to directly in parentheses); (2) more technically oriented specialists who will be comforted to know that you know the actual concepts and can apply them as well as demonstrating advanced statistical skills; (3) for application to another graduate program (shows you have both written and quantitative skills – both typically important to success in a graduate program)


2. Appendices

A. Appendix A – demonstrates a knowledge of 


questionnaire construction – useful not only



does it demonstrate a skill but suggests the



need for their organization to use this skill –



can’t “outsource” interviewing from outside



this local area (i.e., not from India)

1. Preparing Appendix A is an assignment later in the semester - a file that will be posted at my website will show you how to do it 
B. Appendix B - demonstrates that you know both 
multivariate statistical analysis and how to use a 
statistical package (notice both the “commands” 
and the “output” are in the appendix).     

1. Multivariate statistical analysis is the backbone of modern quantitative political science and is a cornerstone of policy analysis.  You will be applying what you learn in class to a real world dataset which you can apply to the topic of your paper.  Part of a future week’s assignment is to prepare Appendix B.  A discussion of the datasets, the datasets themselves, the Stata commands necessary to estimate the output that will appear in Appendix B are contained in a file that will later be posted at my website.
C. Verification

1. I began putting this paper approach together over the past two summers
2. Texas A&M – George H. W. Bush School of Government and Public Service - Like UGA – good public policy and administration program – capstone projects are available online – very good, but are too long to submit with a job application, co-authored (so the reader doesn’t know who did what – often with a faculty member

3. Frank Baber – Chair of the Graduate Center for Public Policy and Administration said that the paper in the syllabus is more career value than either the Texas A&M capstone project or the Graduate Center at CSULB’s capstone project
4. Grant Rupp – Outstanding Graduate Student – Community Development Analyst, City of Garden Grove - listed at CSULB website
III. Structure of Class

A. Grade Based on three equally weighted components: (1) cumulative quiz score (minus your lowest quiz); (2) term paper; (3) final exam. 
1. While the total point value of each component is the same, the impact is different because the variation over people is different for the various components – typically the final exam has the greatest impact.
B. Each week you’ll have a quiz right at the start of class – this puts a premium on being prepared over the reading assignment.  And the discussion from the previous week. 

C. Later in the class period you’ll have a second quiz that will cover the readings and discussion that night
D. Class will run about 2 hours – no breaks – so we can leave earlier

1. I won’t answer questions after class.  I need to get home/to bed

E. Leaving immediately doesn’t mean I’m trying to be unavailable to you:  You’ll have a greater opportunity to talk to me than, I would guess, any other professor – Monday/Wednesday- SPA-227- (9-9:30, 10:45-11:00) and by phone: Monday/Wednesday – 4:30-6:00, all other days 2:00-6:00 – at 562-597-7287 – i.e., 23 hours per week.
1. Don’t use email to ask questions – It’s much easier and faster to talk than type.  Also, a phone conversation affords the opportunity to ask questions based upon the other person’s responses.  
2.Something to Keep in Mind: With 23 hours per week 

that you can call and very low calling costs, doing poorly and not calling indicates are genuine lack of concern – that’s important when the grades are computed and when I mention (or fail to mention) options for the future with you.
a. Don’t do do/think this: I’m so confused I wouldn’t know what to ask – Just let me ask you questions – I’ll findout what you don’t know.
b. Pay Close Attention to the Discussion of Take-Home Quiz #1 in the Syllabus.
c. If class is every cancelled, stay up with the reading assignments – i.e., two weeks reading would be covered the following week.
IV. Don’t Be Discouraged if it Looks Like You’ll 
Make a “B” in the Course.

A. Effort/Planning/Strategy is probably more 

important to your ultimate career than the grade you make in the course.

B. For example – If you are highly motivated “B” or “A” student who keeps contacting me and following through on what I tell you wants to apply either to a professional M.A. program and/or looking for work in your career interest, but lack the opportunity to work as an intern without pay in order to get “experience” – I can setup a directed readings that will allow you to keep your present job – while 
(1) Enhancing your skills (e.g., Weimer/Vining text) – also benefits you if you eventually pursue a profession M.A. degree - Technical material is often the most difficult material for people in professional M.A. programs).  

a. The concepts introduced in Assignment 4 (need for the public sector, opportunity costs, etc.) are non-technical versions of the first half of Weimer and Vining while the statistical portions of the coursepack explain a significant portion of the last half of Weimer and Vining.  

(2) Simulating On the Job Experience - the “practitioner letter” (e.g., through phoning – find a practitioner who works in the area of your 550 paper who could benefit either from the analysis you produce in 550 or from a somewhat revised version of it and recontacting this person every couple weeks to keep them interested) or write another paper based upon a problem which the practitioner’s organization will be facing in 3-6 months for which they don’t currently have a viable analysis – you could supply it) and have a letter – on letterhead stationary – that indicates how valuable your analysis was to their organization.   This can give you a financially viable method of gaining “experience.”
a. You could start this process during this semester, it would be very impressive – i.e., suggest you were serious about your career.

b. If you do start this process, two tips:

(1) don’t “forward” an email to multiple people – it doesn’t look like it’s directed exclusively at one particular person and, hence the targeted person is less likely to read it; (2) use a CSULB email address – looks more professional 

(3) Adding a Benefit-Cost Appendix in Excel to Your Term Paper (Campbell and Brown, Benefit-Cost Analysis: Financial and Economic Appraisal Using Spreadsheets)

V. Most Important – Don’t be a Passive 
Student Who Doesn’t Do Well
A. Realistically, differences in both ability and effort will produce different grades – everyone won’t make an “A” – or necessarily a “B.” 
B. However, everyone in this class has the raw ability to succeed at the type of directed readings I just outlined.

C. A person who doesn’t score highly and fails 
to frequently utilize the many office hours I have (23 by phone per week) is saying that they lack the drive it takes to make good use of the options I’ve outlined.   
1. For example, would a person who lacks 

the initiative to seek me out to improve low quiz scores have the initiative to call practitioners they don’t know, explain their project and keep looking until they find someone for whom their project would be useful?

2. Would such a person have the follow through necessary to keep recontacting this same practitioner so as to get them sufficiently “invested” in you to insure a good letter?
3.Planning/Follow Through is More Important 
than a High Aptitude for Statistics

4.Another Impressive Idea: find 
original data for Appendix B

Practitioner Letter (pp. 293-294 of Coursepack)

Since you’re just beginning the paper project, why not see if you can get a “match” between an interest you have and that of a practitioner who could eventually write a letter of recommendation for you?       

What might be an extremely beneficial way to start the term paper would be to ask practitioners if they are going to face a problem in a policy area that interests you over the next 6 to 9 months (i.e., a time frame over which you could prepare an analysis).   Take a look at both the “generic” and “specific” examples ahead.

Generic Example

     
Subject Line: Saratoga, FL – Communications Policy 

(putting the location the recipient works in the subject line along with a policy name applicable to the work they do should increase the probability of a response)


Body of the Message:

I am graduate student in political science who is preparing a policy analysis.  Looking ahead over the next 6 to 9 months, is there a problem area in which a policy analysis of two, or more, policies or policy proposals would be helpful either to you or your organization?  If you can provide me with the specifics of the proposals, or tell me where I could find them, I could prepare an analysis that would, hopefully, be of value to you and/or your organization.

NOTE: When you send it out don’t use general terms such as “your organization.”  Use their specific job title and organization.  The more the recipient feels the message is specifically “for them,” the more likely they are to respond.

For the same reason, don’t “forward” a message.  If the respondent sees a “forward” sign either in the subject line, or anywhere else in the message, they are much less likely to respond.

Specific Example

The sample term paper in the syllabus deals with proposals to expand broadband communication in rural areas.  If I had such an interest and was just beginning the process of building the term paper, I would begin by searching for people in government organizations, or private businesses, who deal with communications policy.  State governments typically have large enough bureaucracies that they will have specialists in many policy areas.  To get started, I “googled” the state of Minnesota.   I found that they had an Office of Enterprise Technology.  Clicking on that option I then noticed that the was a heading for “Planning.”  The planning link led me to a pdf. file entitled, “Strategic IT Planning Assistance at OET” which I downloaded.  On page 13 of the report I found a state official, Keith Goettsch, who was conducting a survey about technology needs.  Both a phone number and email address were listed (keith.goettsch@state.mn.us).  His job title and survey suggested that he would be a good person to contact.  The following message would be what I would’ve sent:

Subject Line: Minnesota: Technology Needs

Body of the Message:

Mr. Goettsch,

I am graduate student in political science who is preparing a policy analysis on communications/technology policies for state governments.  Looking ahead over the next 6 to 9 months, is there a problem area in which a policy analysis of two, or more, communications/technology policies or policy proposals would be helpful either to you or the Office of Enterprise Technology?  If you can provide me with the specifics of the proposals, or tell me where I could find them, I could prepare an analysis that would, hopefully, be of value to you.  Please don’t hesitate to suggest persons that would be useful to contact.   Any advice would be greatly appreciated.

                                 Sincerely,

                                 Chris Dennis

                                 Dept. of Political Science

                                 Cal. State Univ. at Long Beach 

Initially, I’d try a few states and see what, if anything, received.  There could be some interesting material to follow through on.  Don’t hesitate to write down phone numbers of specific individuals to call.

VI. Method of Study

A.Tomorrow – read the first assignment (pp. 1-13) all 

the way through regardless of whether you understand it or not. Put a check by anything you don’t feel comfortable with.  

B.Two days from tomorrow, read the entire assignment again.  
If you something doesn’t make sense, call me. (i.e., read the assignment every other day – that’s why the assignments are short).

C.It’s when you call, not the question you ask, that’s 
important.

1.If you call me 6 days after class with a question about the 
reading assignment, the first thought I’ll have is, “Why didn’t I get these questions 3 days ago?”  The person must not be following the plan I’ll mention.

D.Assignments are Very Short – No 
Excuse for Ignorance!
Week 2 (pp. 1-13)

I. Immediately Administer In Class Quiz #1

A. Mention that if the person doesn’t have their senate 

vote, didn’t call you over the past week and did poorly on the quiz they just took, what should I conclude: despite having 21.5 hours to call, the individual probably wasn’t real concerned about doing well.  It’s not a good idea to keep sending me a message like that!
B. Effort Matters: Not only for higher grades, but for other 

options.  All “Bs” aren’t the same.  If you show more concern professors are more likely to use their background to help you.  I won’t waste good contacts on someone who shows me they probably won’t pan 
out.  I’d likely lose the ability to use this contact in the future.  Also, you’ll need the information on the job (i.e., statistics) or in a future graduate program. Additionally, I can be helpful with letters of recommendation (Jose) and internships/paper project discussed later in this course.  
Assumption: Students have read the material.  Don’t re-hash the text.  

Instead, engage them in a discussion that utilizes the concepts in the text and expands upon them. Try to base the discussion on the material in the back of the book as opposed to using the examples from the assigned pages.  

Ask As Many Questions as Possible (i.e., avoid “lecturing”)  

1. Go Over Take-Home Quiz they just submitted.
Standup, Use the Chalkboard, and Have Them Supply the Detail to the Following Outline:

II. What was the Purpose of the Reading Assignment?


A. To Explain the Basic Steps of the Research Process


1. Hypothesis – a relational statement between two,




or more variables that is deductively plausible

and empirically generalizable. (Ask them to define each of these terms)
a. Why Should We Care? – The hypotheses 

suggest how the world might work.

b. They suggest a Model – which forces the 

individual to think clearly about, and account for, all the important interrelationships in a given problem.
1. It is important that individual 

relationships be tested or validated in some way.



c. Career – Law – Brown v. Board of Education 

(1954) was based on a behavorial theory

d. Political Science Example - Bread and Peace 

Model of Presidential Elections – Pp. 375-376




1. Based upon two hypotheses:






(1) the greater the increase in real 

disposable income, the greater the share of the presidential vote which will go to the party of the incumbent president; 

(2) the greater the casualties in limited wars (i.e., post WWII), the lower the vote going to the party of the incumbent president. 




  
a. What is the dependent variable?

(share of the vote going to the president’s party) What are the independent variables? (change in real disposable income and battle fatalities)

b. Conceptualizations (1) Income 






operationalization - Real 

disposable income (what is it and why would make it a good choice – doesn’t say anything about distribution – thus, would change in the real disposable income of the median voter be preferable?); War (conceptualized in human terms – combat fatalities - not financial terms – why? -Also, doesn’t seem to account for “success” – all these post WWII wars have not been successful – thus war deaths have been in largely unsuccessful wars)
c. Level of Measurement – What level 

is each variable measured at? (ratio)  How could each variable be measured at a different level? (share of the vote could be replace by an ordinal measure/nominal measure – incumbent party either won or lost – but this wouldn’t tell us as much useful information – that’s why we like “higher” levels of measurement); income could be replaced by the unemployment or inflation rate (why would either be inferior?) and war deaths could be replaced by a nominal/ordinal variable – whether, or not, we were at war (again, conveys less information)





d. Unit of Analysis – What is the “unit 

of analysis” for this study? (the United States as a whole)







1. Alternatives – collect data on 

individual voters about the various independent variables and see what impact they have on the vote.

2. Jacobson – economic 
conditions can influence the congressional vote without impinging on individual voters at all. How is this possible? Or Steiner’s question: Doesn’t the campaign matter? [The answer to both is that the campaign in endogenous – i.e., explained by the independent variables in the Bread and Peace Model  – thus, the quality of the challenger – and the quality of their campaign - against the incumbent party is inversely related to the change in real disposable income and war casualties – thus, when  the economy and/or casualties are bad for the incumbent party better quality and better funded opponents appear which changes the election outcomes – even if individual voters’ responses to questions do not show a relationship between their perception of their personal finances and their vote (or the campaigns offset each other]  





e. Research Design – What type of 

research design would this study use? (nonexperimental)






1. Why? (Because the 

researcher could not set the level of the independent variables) Ask them to give a practical illustration from this study of  what the researcher have to do be able to do if this were to be an experimental research design)






f. Ecological Fallacy – Are we 

generalizing to a level of analysis other than the level that the data are collected at?







1. Not in the Bread and Peace 

Model – We are interested in the share of the vote in the election, not the behavior of individual voters

2. Findings: The two variables above do 

very well in explaining post-WWII variation in the presidential vote (what is variation?) and nothing adds much of anything to it (e.g., scandal, 





income distribution, unemployment, 

inflation, extremism of incumbent party’s candidate, etc.)
a. Testing the model against rival 

explanations is part of the scientific process –strengthens the argument.

DISCUSS THE DIFFERENCE BETWEEN CONCEPTS, OPERATIONALIZATIONS, VARIABLES, OBSERVATIONS AND CASES USING THE DATASET ON PAGE 65.  ALSO DISCUSS “ECOLOGICAL FALLACY” IN TERMS OF DATASET ON PAGE 65

	Bread and Peace Equation Estimates

	
	
	
	

	Incumbent Vote Share
	1952 – 2004
	N = 14 elections
	

	
	R2 = .866
	Adj R2 =.826
	Root MSE =2.42



	
	Coef. Estimate
	Std. Error
	t-ratio



	Constant ([image: image1.wmf]a

)


	46.2
	1.24
	37.3

	Real Income Growth ([image: image2.wmf]1

b

)


	3.61
	0.615
	5.87

	Weighting parameter ([image: image3.wmf]l

)


	0.914
	0.058
	15.9

	Cumulative KIA ([image: image4.wmf]2

b

)


	-0.307
	0.078
	-3.95


Expressed on an annual basis, the weighted average per capita real income growth rate during Bush’s first term was 1.72%. US military fatalities in Iraq stood at 1.13 thousand at the end of October 2004. The within-sample prediction (regression fit) of Bush’s two-party vote share from the Bread and Peace model is therefore 52.08%, which gives a prediction error of -0.84%:  [image: image5.wmf]46.23.611.720.3071.1352.08

+-

gg;

;  [image: image6.wmf]51.24-52.08=-0.84

. The model estimates indicate that the Iraq war made only a small dent in the vote for Bush – depressing his two-party share by around 1/3 of a percentage point. However, if casualties continue to mount all the way up to the next election, Iraq could have decisive effect on the 2008 outcome, particularly if on economic grounds alone the election would likely be close. But in 2004 economics dominated the fundamental sources of Bush’s re-election.

II. Form of Relationship – How the Independent and Dependent 

Variables are Related

A. Linear – Bread and Peace Model – change in 
RDI/Casualties

B. Logarithmic – Public Policy -  Impact of OSHA 
Regulations

C. Polynomial



1. Development literature on strife and level of 

development – Dr. Wright

2. Election of African-American Candidates in the 

South


D. Interactive



1. IR literature on Democracy

III. Reasoning Through a Model Is Important Even When You 

Can’t Empirically Test the Model 

A. One of the main values of courses such as 550 is to 

force you to develop this type of thinking.

IV. Focus on Research Design
1. Begin by asking them: What is the difference between an 

experimental and a nonexperimental research design?  Why is the experimental design preferable?  

2. Introduce the experimental design by using the example of race.  

Ask them how they would measure someone’s racial attitudes?  People may feel virtually forced to give socially desirable answers. (Who would admit to being a racist?).  After they suggest approaches, use: 

A.  Sniderman and Piazza – the independent variable was the respondent’s opinion of African-Americans (i.e., one-half of those in the study were asked the degree to which they agreed with a series of stereotypes about African-Americans prior to their being asked about the dependent variable (attitudes toward affirmative action – the other half of the group was asked about their attitudes about affirmative action prior to their being asked about the stereotypes – what the researchers found was that the “mere mention” of affirmative action triggered a series of negative opinions about African-Americans (i.e., those who were asked about affirmative action prior to being asked about the stereotypes were far more likely to agree with negative stereotypes of African-Americans than were those who were asked about the stereotypes prior to the affirmative action question – this is an example of an experimental design because the researcher can determine the order in which the questions are asked; 

B.  The List Experiment – innovation in measurement, might be termed a “quasi-experimental” research design (Navigation Public Opinion, pp. 238-244) – Respondent’s reluctance to reveal their true feelings has long been an issue in the measurement of racial attitudes.  Those with conservative racial views may be reluctant to reveal them to an interviewer.  The list experiment was developed to permit the measurement of racial attitudes by creating a situation in which individual respondents need not acknowledge those attitudes to the interviewer.  It worked as follows: take a “baseline” list of four items (1 - government increasing the tax on gasoline; 2 – professional athletes earning large salaries; 3 – requiring seatbelts be used when driving; 4 – corporations polluting the environment) and ask the respondent how many of the items “might make people angry or upset” (but not which items) and compare it to a second randomly selected group (ask them to define random) which receives the same four items plus a fifth item (Awarding college scholarships on the basis of race).  If for the first group, the mean number of items that might make people angry or upset was 2.3, but was 2.9 for the second group, we can conclude that 60% found the fifth item as something that might make people angry or upset.  Then, you can add a “twist”: later in the interview ask only those respondents who were randomly assigned to the “baseline” group whether they think Awarding College Scholarships based on Race would make people angry or upset.  By then comparing the percentage who answered “yes” to the percentage from the original comparison (i.e., the 60% in the first comparison) we can gauge the reluctance to acknowledge anger over affirmative action.  Finding: In the list experiment, liberals were as opposed to affirmative action as conservatives – but were much less likely than conservatives to show hostility toward affirmative action when asked a question that directly measured attitudes about affirmative action.     

C.  College Scholarship Experiment (Feldman and Huddy, AJPS, Jan. 2005, pp. 172-173 – pp. 220-221 in the coursepack) – The researchers examined reactions to a college scholarship program that is targeted at specific racial groups.  Respondents were randomly assigned to one of eight conditions.  The stem question was “To what extent do you favor providing special college scholarships for (group inserted from following list) students who score in the top 15% of their school class, even if their school’s grades are not in the top 15% nationally?  The eight conditions (groups) were referred to as: white, black, poor white, poor black, middle-class white, middle-class black, poor, and middle-class students.  Respondents were asked if they were:  (1) strongly in favor; (2) somewhat in favor; (3) somewhat opposed; (4) strongly opposed.  Question from the reading assignment: what level of measurement is the above? Also, what information would we like to have and do not? (the amount of difference between the categories – i.e., is the difference between “strongly in favor” and “in favor” the same as between “somewhat in favor” and “somewhat opposed”? – i.e., not interval data.)

FINDINGS: among liberals, racial resentment conveys the political effects of racial prejudice by predicting support for African-American students, but not white students, and is a better predicted by overt measures of racial prejudice than among conservatives.  Among conservatives, racial resentment appears more ideological.  It is closely tied to opposition to race-conscious programs regardless of recipient’s race is only weakly tied to measures of over prejudice. 
D. Measuring the Impact of Race on the Vote by Share of the Vote the 

candidate receive controlling (ASK THEM WHAT “CONTROLLING MEANA”) for partisan division of the vote, candidate funding, etc.) 

E. Mention that even though a majority of welfare recipients are white, 

white respondents’ views of an African-American woman on welfare (e.g., work effort, etc.) were much more predictive of their attitudes toward welfare than their perceptions of a white woman on welfare.
F. Show them how the problems that quantitative researchers face are 
similar to the problems qualitative researchers face.   For example, both need to think in terms of a model (i.e., ask the class – 1 - What is the difference between variables and constants? – you need variation – even if you are doing a thesis involving case studies, you can’t pick only “failures” or only “successes” to study – you need some of both so you can compare them; 2 – What is the difference between an independent and a dependent variable?).  Thus, both qualitative and quantitative researchers face the same problems.   

G. Additionally, mention testing theories of Political Philosophy.  Ask

them what is Rawl’s theory of justice? (an action can only be undertaken if the least well off person is not harmed – I believe “harmed” is in an absolute and not relative sense – i.e., if the rich gained and the poorest person was unchanged, this would be “okay” – in and of itself this is interesting because indirectly, inequality “harms” – i.e., if all other groups gained but the poor, eventually, the poor might be adversely effected because their ability to compete economically – e.g., by owning a computer – might be effected.  This is one of the great reasons why the empirical research is so important: it forces people to measure their concepts and think about their model – i.e., as I just did – thus, how do you measure whether someone is “worse off” or not?  Empirical questions might be: how do you operationalize Rawl’s concept of justice? Could it be applied? (Charles Plott found that it couldn’t be applied in all cases) To what extent do citizens agree with Rawl’s?  

I.TERM PAPER – Getting Started

A. Think of why you are interested in political science.

1. Example: The ability of the government to impact the lives of the poor.

2. A concern for the poor might lead us to them not having health care.

B. What You CAN’T Do

1.  A normative question: Should the United States guarantee

health care to all it’s citizens?  (wouldn’t involve the quantitative analytical skills we want to learn/develop and would not be of interest to employers)

2. Why the current policy: Why doesn’t the U.S. adopt universal health care?  (too much concern with the political process, doesn’t use the skills this course is developing) 
C. What You Could Do
1. Compare two, or more, health care proposals on a variety of criteria where the concepts in Assignment 4 can be applied (e.g., opportunity cost, producer surplus, social surplus, etc.)

2. Example, compare the Obama and McCain health care plans over coverage, cost containment, etc.  You need SPECIFIC information (e.g., the income limits on who is eligible for a federal subsidy, how high the subsidy is, how many people would likely receive coverage – e.g., go to the Congressional Budget Office or the Center for Budget and Policy Priorities (websites all mentioned in the coursepack).
TERM PAPER –  Last week I mentioned that a letter from a practitioner  (coursepack pp. 293-294)would be an excellent method of enhancing both your employment opportunities as well as your chances of being accepted into another graduate program.  Such a letter is not a requirement of POSC 550.  I mentioned it as one component of a potential 599 directed readings course.  However, since you’re just beginning the paper project, why not see if you can get a “match” between an interest you have and that of a practitioner who could eventually write a letter of recommendation for you?       
II. Additional Material

A. Thinking In Terms of a “Model” – i.e., Value of a Hypothesis (A 

relational statement between two, or more, concepts which is deductively plausible and empirically generalizable)  
1. Direction of a Relationship (ASK WHAT THIS IS): (1) p. 65 – 
columns 1 and 2 for a 
“positive” relationship and bottom p. 246 for a “negative” relationship



2. Concept (what it is) vs. Operationalization (how you 

measure it) (ASK WHAT THESE TERMS MEAN)
a. Measurement –  Ratio level – P. 369


3. Deductive Plausibility (ASK WHAT THIS IS)



4. Empirical Generalizability (ASK WHAT THIS IS)

C. Ecological Fallacy/Unit of Analysis – Use of Wallace vote to 

measure racial attitudes – in your study, were racial attitudes the property of individuals or counties?

D. How are they coming on their papers?  How many people have 

found “their two policies to compare”?

Week 3 (pp. 14-27)

1. Go Over Last Week’s Quizzes – If Someone Didn’t Turn 

In the Take-Home Quiz from Last Week - Graduate Students Always Attend Class and Have the Assignments Ready – If Not Drop

2. Go Over Take-Home Quiz they just submitted (p. 246 – mean and 

standard deviation)
a. Ask them if the distribution of scores in Spain could be

normally distributed.  Why or why not?




You did a good job on the quiz. You received 9 out of 10 



points.  You could've mentioned how the Spanish 




scores couldn't have been normally distributed (i.e., with 


a standard deviation of 2.7, a mean of 4.9 and a 




minimum possible score of 1, you could not have a 



score even two standard deviations below the mean).  



The Spanish distribution probably looks like page 25 



(many low scores and a few "high" scores.  Thus, the 



typical Spanish citizen is likely living well below the 



already very low mean.  
b. From my standpoint, what would be the worst possible 

distribution of scores that could result in a mean of 5 on a quiz?  (half 10s and half 0s) 

I. Ability to Think Through Numerical Presentations

A. If I’m trying to make a case that the rich are being stifled

by high taxes, why is the following statement not necessarily very helpful: The richest 1% of the households pay 36% of  the federal income tax and the richest 5% of households pay 57% of the federal income tax.  

1. It’s not the percentage of the tax paid by a 

particular group, but taxes as a percentage of income that’s important.  Thus, if the federal government raised $1 in federal income taxes and the entire dollar was paid by Bill Gates, Gates would have borne 100% of the federal income tax burden and it wouldn’t affect him at all.  Notice the above statement said that the richest 1% paid 36% of the federal income tax, not that the typical household in the top 1% paid 36% of it’s income in federal income taxes.  Even if the federal income tax rates for the wealthy dropped (as under Bush) the increasingly unequal distribution of income may mean that the wealthy pay a higher percentage of the federal income tax burden.  Additionally, It also neglects all taxes other than the federal income tax. Note the regressivity of federal payroll taxes and state and local taxes.

II. What Was the Purpose of the Reading Assignment? 

(to summarize the data – not to relationships between variables – i.e., not to test hypotheses – that comes beginning next week)
A. What is the Difference between a Measure of 

Central Tendency and a Measure of Dispersion?
1. Ask them the difference between the Mean vs. Median –

Bush Tax Cuts – Bush said that 91 million taxpayers will receive, on average, a tax cut of $1,126.  Ask them to comment on this.  The median tax cut is approximately $217 (less than 1/5 of the mean). The richest 1% (households making $320,000 per year and more) receives more of the tax the entire poorest 75% of the households combined.  Not surprisingly, 83% of the households receive less than the average (think of a skewed distribution, like page 25), 53% receive less than $100, and 50 million households receive no benefit at all.  The poorest 75% will lose more in service reductions than the value of their tax cut.  Concerning the Bush Tax Cuts would the standard deviation as a percentage of the mean be high or low?

2. Ask them the difference between a Trend (just know the 
direction, not the magnitude) and Rate (know the amount – i.e., rate of change, but not the absolute level or score – i.e., the actual amount of pollution).

a. In one the 2004 presidential debates in answer to a 
question about the environment, President Bush said that pollution has been reduced while he was president.  Senator Kerry responded, in part, by saying that there would have been less pollution if President Bush had done nothing.  There are four possibilities: Bush is correct and Kerry incorrect, vice versa, both are correct or both are incorrect.  Which is the correct answer and why? Both are correct.  While pollution has been reduced under Bush, the rate of decline is lower than what would have occurred if the laws Bush inherited were unchanged.  Thus, Bush has slowed the rate of decline, not changed the direction (i.e., from reduction to increase).  Therefore, the trend is in the same direction but at a reduced rate. 

B. Visual Presentations: 
1. Distribution of Scores -  top p. 267 (today the top 1/10th of 1% has almost 1.5 times as much income as the entire bottom 20%) – in 2007 the share of income going to the richest 1% of taxpayers increased to 18.0% - 

2. BOX PLOT – p.  274 – scores on tax, cons, etc.  – the “box” corresponds to the 25th to 75th percentile (i.e., first and third quartiles) while the line inside the box is for the median score – thus in skewed distributions the median line is not in the center of the box – if the median line is below the center of the box it means that the scores are more spread out above the median than below it – the perpendicular strait lines above and below the box are the “whiskers” and show the range of the data – 
3. Mean/Standard Deviation Comparison on Economic Inequality Question: Questions 1-4 on Page 370 deal with the question of “What/Who is responsible for the level of economic inquality in the United States?” - ask them about the relationship between the ratio of the standard deviation to the mean and the distribution of the scores – i.e., the more evenly the scores are distributed over categories, the greater the percentage the standard deviation is of the mean – also the first question is “liberal” the second question “conservative” – poverty is the fault of the victim, not the systems; on the top portion of 
4. Mean/Standard Deviation/Gini Coefficients on Income Inequality in Europe and the United States page 371 -notice how much greater the “Max” gini is in the U.S. relative to Europe (mean/st. dev. are over the 50 states whereas for Europe these statistics are between different nations) 
5. Mean/Standard Deviation Concerning Income, Life Satisfaction and Left Voting in Europe and the United States – Page 371 -  contentment for both the left and right as well as by income – left voting is a measure of alienation – so they’ll be less “happy” – more wealth more happy
6. Inequality Ratios – P. 369 (ratio isn’t sensitive to the absolute amount of income – also a “top/bottom” ratio is intuitively good measure of inequality.  Gini index doesn’t tell “where the action is.”

a. Note lower egalitarianism in U.S. and differences between the political parties and business/labor

7.Pages 272-273 (Senate Tax Data – means, 
standard deviations, kurtosis, skewness and box plots): Describe the variables and ask questions about means, standard deviations and range. 

a. Note that “tax” is the percentage of the times the senator 
supported those below the median family income on 76 votes.  If I take a percentage, what assumption have I made? (the votes should be equally weighted)

b. Why would the mean of median family income not  be the 
same as the median family income in the U.S.? (Because the mean of the median doesn’t adjust for population size – each state counts equally)

c. ADA/ACA – Range of Conflict: Does the difference between 
100% and 0% equal a great or small distance?  For example, we could complete disagreement over a very small range of conflict.

                                                      Left                                                          Right






100% ------------------------------------------------ 0%







Or





Left                          Right

                     


100%---------------------- 0%

1. The above won’t help you on the validity 

of ADA section in your paper.  The

paper is concerned with the validity over the range of conflict (not the width of the range itself).

d. If Democrats are “1” and Republicans are “0” what does a 
mean of .62 for party tell you about the number of Democrats in the Senate? (62 Democrats)
8.CALIFORNIA DATA – Page 275
a.Notice how on “Income” dispersion has increased over time (i.e., 
the standard deviation as a percentage of the mean has increased over time).

b.ASK CLASS: What are the implications of this for politics in 
California (e.g., adopting a budget)
9.Direction vs. Amount: David Jones – If Reagan wanted a 30%

Federal Income Tax Cut and a Democratic Congress gave

Him 10%, is that a right or left move?  (You could argue that

any tax cut was a move to the right or that since the final

product was closer to the Democrats – i.e., 10% is closer

to 0% than 30% - this represents a Democratic/Congressional victory – Jones went for Reagan)

10. Ask them to Explain the logic and Interpretation of  a Normal 
Curve (p. 24) 

a. Distribution of Scores on a Variable vs. the Distribution

of Estimates of an Estimator (i.e., “b” or of sample means)


b. Tchebysheff’s Theorem – p. 25 – Purpose of

11.Ask them to Explain the Purpose and Logic of Z Scores (p. 
27) 

12.Use Mean/Standard Deviation of the Congressional Vote and 

Congressional Security (i.e., reelection probability for Jacobson as used in Legislative Process course.

a. If the average incumbent’s share of the vote either remained 

the same, or increased, why might incumbents actually be less secure?  (You would think that the greater the share of the vote the average incumbent received, the more secure they would be.) (Jacobson, 6th ed., pp. 30-31: the variance increased more than the mean which increases the chance that a given incumbent will lose at some point over a series of elections – Using Z Scores/

normal distribution of scores – illustrate with mean of 55% and standard deviation of 2% and a mean of 60%

coupled with a standard deviation of 5.5%)
Next Week > Hypothesis Testing

III.  How is the Term Paper Coming?
A. Two Weeks from Tonight Assignment 4 is due
B. The Syllabus Provide Much Material to “Get You Started.”
1.You need two, or more, specific policies that encompass the 
same items (e.g., two health care proposals that we could compare on the basis of access to health care – i.e., how much of the population would be covered – how poor does a family have to be inorder to receive a subsidy and how large a subsidy do they receive), comprehensiveness (how broad is the coverage for those who are covered – e.g., dental care included? cost containment (e.g., medical review board examines costs and benefits of various treatments, incentives to follow a doctor’s advice – e.g., stop smoking, dietary changes) and financing (how progressive is the financing mechanism?)

a. If you Can’t Apply the Concepts Mentioned in Assignment 4 (e.g., consumer/producer surplus, opportunity costs, etc.) then You Don’t Have a “Viable” Project.
11. Important of This Course to You
a. Let me try a group that probably would think that this course is of little value to them: Would be Theory Ph.ds.  “I never use this material.”  Sure you will: (1) 95%, or greater, of those who start this M.A. program desiring a Ph.d and to have an longer academic career with a permanent full-time faculty position teaching theory at a 4 year college will never realize their goal – which means they are very highly likely to end up in a career which will make good use of the material in this course (talk to part-time faculty member Chris Metaxas); (2) even for the 5%, or fewer, who would actually complete a Ph.d and teach theory in a full-time permanent university position – the subject matter of this class is, coursewise, the likely biggest stumbling block to their obtaining a Ph.d (Ben Bishin – 25% attrition rate in this course at UCLA and workload – “easy” weeks 25 hours, “hard” weeks 40 hours).
b. For all the rest of you, the relationship between this course and your likely career is even greater than just mentioned.

c. USE ME – Think of how strong you can make the term paper for use either in securing employment and/or admission to a subsequent M.A. program

1. The semester is marathon, not a sprint. Every week your actions/lack of action makes a statement about 
2.Coming to me for future help –e.g., 599 and/or a 
letter of recommendation YOUR PERFORMANCE/EFFORT MATTERS!

If it were me, I’d pursue quite a number of “leads” because many of these won’t pan out.



>>>>The “Key” to the Course is the Level of

level of Initiative you take. Be Aggressive!! It’s the Ability to Anticipate Problems before the Occur that is the Quality I value Most and Why the Stakhanovite Points are Such an Important Part of the Course.  Self-starters, Not People Who have to be Told What to do (as through an assignment) will typically have the best careers.
Close with the Example of Ryan Hiscocks – Some of the Greatest Costs of Not Excelling at this Process You Won’t Even Findout - Ryan Doesn’t Know What He Missed – i.e., I couldn’t use a Good Contact (Joe Stewart) on Education Policy because Ryan hadn’t demonstrated that he was an anticipator.  He didn’t show enough potential that I could recommend him.  If he had performed poorly, it could have eliminated the opportunity to use this contact for one of you in this class.  
Week 4 (pp. 28-46)


One approach is to go over Assignment 4 (i.e., getting started on the term paper) this week and cover pages 28-46, (which are due read in week 4 of the semester) the following week (i.e., discuss 28-46 the week that they submit Assignment 4 as there is no new reading assignment for that week).  If you need more material than just what appears in Assignment 4 in the syllabus try the Adobe Acrobat files entitled“Policy Analysis Notes.”  The most useful “Policy Analysis Notes” files are: #5, #9, #11, #12 (Social Security – could be useful), #13 (Health Care – but Obama plan may make obsolete), #14 (Education – could be very useful but Obama’s Race to the Top might impact), #15 (Regulation – might be useful), #16 (Regulation – probably more useful than #15).
I.What’s Required in Assignment 4? (Coursepack, pages 

293-307)
A.Three Requirements – Coursepack, Page 295 



B.1-Must compare at least two policies/proposals


C.2- Must Use At Least 4 Microeconomic/Policy 

Analysis Concepts from Coursepack Pages 296-302 (might discuss these pages in class) 

D.3- Must compare these two policies on 4 different



criteria

a.Mention desirability of political feasibility as 

one of the four criteria (1 – it’s a “natural” for political scientists; 2 – political feasibility is highly related to the possibility of adopting and/or maintaining a policy; 3 – provides a good rationale for both Appendix A and B 


E.Go Over “Bad Example” and Kim Tang’s Example 

(“Good Example”) on Coursepack Pages 302-307 
II. Concepts/Ideas that May be Useful 

A.Consider the conception of “efficiency” on page 
302 (i.e., need to specify the “goal” prior to deciding how “efficient” – greatest accomplishment of the goal at the least cost – a policy is)
1.Also, what’s a “cost” or “benefit” from a 

policy? (i.e., someone’s “cost” may be someone else’s “benefit”)


2.Example of Opportunity Cost and Efficiency




“When visiting Mexico, columnist James J.

Kilpatrick observed fifty men in Puerto Vallarta with picks and shovels dogging up cobblestones, a job ‘one big Caterpillar’ could do in a tenth of the time.  He noted that though unemployment was high, underemployment was worse ‘partly because of a policy that puts manual labor ahead of efficiency.’  Kilpatrick, however, neglected to consider opportunity costs.  When unemployment is high, the opportunity cost of labor is low.  If investment capital is quite scarce, its opportunity costs may be too high to justify buying a Caterpillar.  Once opportunity cost is in clear view, efficiency in a less developed county may look different than it does in a develop county one, an ‘underemployment’ may disappear.” (Steven Roads, The Economist’s View of the World, p. 12)


3.The Concept of Comparative Advantage




How do we decide which of two nations 

(or two American states) is the lower-cost producer of a given good/service?  Not Easily!  Consider the following:

U.S. – 1 unit of radios costs 1 2/3 units of 

grain or 2 ½ units of textiles  
Japan – 1 unit of radios costs 1 ½ units of 

grain or 3 units of textiles 



It follows then that Japan is more efficient 

than the U.S. in producing radios relative to grain (because 1 ½ is less than 1 2/3) but less efficient relative to textiles (because 3 is greater than 2 ½).  Thus, a nation can become an inefficient producer of good X simply be becoming a very prolific producer of good Y.  If Japan starts to produce ratios and television sets at a lower cost than they can be produced in the United States, that does not imply that U.S. radio and TV manufactures have failed in some fashion.  It could just as well mean that U.S. productivity has been increasing rapidly in other industries.  (Paul Heyne, The Economic Way of Thinking 5th ed., p. 128)


Economics is really about people, states and 

nations maximizing their comparative advantage.
III. Since your policy analysis is likely to involve the 
importance of consumers and/or producers supplying information (e.g., the impact of a product – e.g., risks, benefits, etc.) let’s consider some aspects of information

A.Some of the Problems of Interpreting Human 

Behavior in the Face of Risk has to do with the Problem of People Making Decisions on the Basis of Subjective Assessments of Probabilities Which May be Quite Different from the Objective or True Probabilities

1.Example: Probabilities of Death from Various 

Causes

                        Subject                        Statistical  

Cause             Estimate                      Estimate

Accident           .32                                 .05

Homicide          .30                                 .01



2.In budgetary analyses we find that citizens 

greatly over-estimate the percentage of the federal budget devoted to unpopular items (welfare and foreign aid) 



3.People overly-upwardly identify

B.People’s Attitudes toward Risks Concerning 

Gains May be Quite Different from Their Attitudes Toward Risks Concerning Loses


1.For example, when given a choice between 

getting $1,000 with certainty or having a 50% chance of getting $2,500 people may well choose the certain $1,000 in preference to the uncertain chance of getting $2,500 even though the “expected value” (i.e., probability x amount) is greater for the uncertain option (i.e., $1,250 vs. $1,000)
C.How Efficient Information Markets Work

1.Information is for consumers (to find the 

product mix they desire) and sellers (to find what consumers what and a what prices they are willing to pay)

2.Consumers do not always collect an optimal 

amount of information for three reasons

a.They may underestimate the value 

of additional information

b.Their information processing skills 

are limited

c.They are subject to systematic 

informational biases
E.Profit Maximizing Firms Will Provide Pre-Purchase 

Information up to the Point Where Marginal Net Revenue Equals the Marginal Cost of Providing the Information
F.A Tendency for Inefficient Information Undersupply 

Results when the Seller Providing Information Does Not Capture (as additional profit) the Entire Social Benefit of that Additional Information
G.Despite the Importance of Consumer Information the 

Law has Yet to Develop a Satisfactory Set of Principles for Determining When the Government Ought to Respond to Consumer Information Problems, and How it Should Do So

1.Example: Deceptive Advertising – How Does the 

FTC (Federal Trade Comission) Define It?

1.Making a false claim about a material fact?

2.Ad produces an inaccurate belief about a 

material fact in some consumers?

3.Ad leaves some consumers with inaccurate 

beliefs about any material fact?

4.Ad fails to disclose any information which 

would change some consumers’ behavior?

Week 4 (pp. 28-46) (or Week 5 – i.e., the night they 
submit Assignment 4 – you could discuss what they already read but haven’t discussed in class – pp. 28-46)
I. Go Over the Last Week’s Quizzes

II. What Was the Purpose of the Reading Assignment?
A. To Begin the Process of Hypothesis Testing (pp. 28-38)

B. To Introduce Probability Theory (pp. 39-46)
III. Detailed Discussion of the Two Central Topics of the 
Reading Assignment


A. Hypothesis Testing

1. Stress Importance of Pp. 28-30: P. 28 – 45% is less than half, 
but still supports the hypothesis because it is greater than 19%; 


a. Explain what a “cell” is


b. “Percentage” by the Independent Variable

c. N is the Number of Observations
2. What’s the difference between Controlling and Setting the 

Level? 
a. Controlling -  Mention Paul Rubin, African-American 
Congressmen and House voting on the minimum wage. (You responded to him by getting a minimum wage vote and breaking it down by race – what was wrong with this? – didn’t control for
other independent variables which obscured the relationship between race and the vote on the minimum wage)


1. On Controlling – Use Page 30

b. Spurious Association (Business Conditions, 


Minister’s Salaries, Rum Prices in Havana) 
1. If controlling eliminates a relationship it maybe 


due to causal order.





Ind. Var.                          Dep. Var.



   
Senator Ideology  >>>>>>>>  Support




Senator Party Affil.  >>>>>>      for




Senator’s Gender   >>>>>> Nat. Org. of 








Women’s Voting








Scale (NOW)




a. If gender is statistically insignificant we





are pushed to the conclusion that





the gender of the legislator is 





unrelated to their degree of support





for NOW’s scale.




b. It may be that the impact of Gender was





felt through party and ideology. Thus:

                       Ind. Var.             Intervening Var.            Dep. Var.             



gender >>>>        party i.d.   >>>>>       Support




                                                            for

                                    >>>>     ideology    >>>>>          NOW’s

                                                                                         Scale


c. Endogeneity/Exogeneity – Define the terms and then 

use the Bread and Peace Model and Steiner’s comment – Doesn’t the campaign mean anything? Answer – yes, but the difference in the campaign quality is explainable by change in real disposable income and battle fatalities – i.e., when the conditions aren’t good for a party, they receive less money and poorer candidates)

1. In their Term Papers is a Senator’s  Ideology 

Endogenous or Exogenous? (Exogenous)



3. Ask them “What’s the purpose of a Measure of Association?




(summarize the association – show how unwieldy a 




cross tabulation table with many cells would be)
a. In part, level of measurement determines which 

measure of association is proper to use.




b. Discuss interpretation on page 34 

1. Page 246 on how one changed score would 
reduce a perfect association – measurement error and strength table, 



4. Page 35 on the number of cells/measurement error in cross

tabulation (i.e., if you have just a few categories of responses per variable you increase measurement error)


5. Page 35 on number of observations per cell and statistical




significance testing in cross tabulation – not a problem




for a measure of association, just cross tabs.



6. In words, what’s the difference between the magnitude and 



the strength? 



a. Page 37 – diagram on magnitude use Michael Landon




b. points 4-5 on pages 37-38


B. Introduction to Probability Theory


1. Samples and Populations




a. What is the difference between a sample and a 




population?

1. Remind them that it doesn’t have to be a 

population of people

>>>>>>>
b. Since Are Interested in Populations, Not Samples,





But Can’t Study the Entire Population We Must

         >>>>>>>
Estimate, or Infer, the Population Value from a Sample - Thus, Statistical Inference



c. What makes a sample “random”?

1. Explain a “stratified” sample, why we might 
want to do it and the limitation (we’d need a perfect theory in order to know all the variables we’d need to stratify for)

2.What was the main point of the Family Breakfast 
Example (p. 41)? (variability of sample estimates) 
a. Explain that the distribution of a parameter (e.g., a 

population mean in the family breakfast example or a regression coefficient) is normally distributed even if the variable it is associated with is not
normally distributed.  This is critical to hypothesis

testing. 




b. What is the relationship between sample size and 




accuracy? (45)

1. It is the absolute size of the sample, not the 
sample as a percentage of the population that is critical.



e. Probability – What is the Fundamental Question of 

Statistical Inference? (How likely are the results to be the product of chance?)



1. If you flipped a coin 10 times, what two things would





have to occur before the results were the product

 



of chance? (1- you would have to get an unequal





distribution of heads and tails; 2 – the coin would





have to be “fair” – i.e., unbiased)


C. Use Pages 276-278 on Cross Tabulation and Measures 


of Association for Senate Dataset 

PAGE 276              Cross Tabulation of Senator Conservatism

and Support for Tax Changes Primarily Benefiting Households

With Median, or Lower, Incomes
Cons1 0-33 = 1, 34-66 = 2, 67-100 = 3

Tax1   0-33 = 1, 34-66 = 2, 67-100 = 3

tabulate tax1 cons1, row column all

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

Note: Interpret by the Independent Variable (cons1).  Thus,

column percentages (the lowest row of each cell) are


most important.  This is why I setup the table so that


conservatism was across the columns rather than


down the rows.  
           |              cons1

      tax1 |         1          2          3 |     Total

-----------+---------------------------------+----------

         1 |         7         16         21 |        44 

           |     15.91      36.36      47.73 |    100.00 

           |     12.28      76.19      95.45 |     44.00 

-----------+---------------------------------+----------

         2 |        23          5          1 |        29 

           |     79.31      17.24       3.45 |    100.00 

           |     40.35      23.81       4.55 |     29.00 

-----------+---------------------------------+----------

         3 |        27          0          0 |        27 

           |    100.00       0.00       0.00 |    100.00 

           |     47.37       0.00       0.00 |     27.00 

-----------+---------------------------------+----------

     Total |        57         21         22 |       100 

           |     57.00      21.00      22.00 |    100.00 

           |    100.00     100.00     100.00 |    100.00 

          Pearson chi2(4) =  58.8499   Pr = 0.000

               Cramér's V =   0.5424

                    gamma =  -0.9467  ASE = 0.029 (Asymptotic St. Er.)
          Kendall's tau-b =  -0.6695  ASE = 0.041

              correlation =  -0.6963  (correlation of cons1 and tax1)

              correlation =  -0.8017  (correlation of cons and tax)

1. Reading the Table: Column 3 upper right cell – 21 is 95.45% of 22 (the total number of senators who scored between 67-100 on conservatism); Row 1 upper right cell –  21 is 47.73% of the 44 senators who supported those with income below their state’s median 0-33% of the time.
2. Notice that the correlation is higher when the full range of scores (reduced measurement error) is used instead of the recoded version (i.e., 0-34 = 1, etc.).  Gamma is higher than K. tau because gamma omits ties (i.e., gamma would omit cells where the association is reduced through having the same score on one variable but a different score on the other variable).  

PAGE 277
Cross Tabulation of Senator Conservatism

And Support for Tax Changes Primarily Benefiting Households

With Median, or Lower, Incomes for Republican Senators
tabulate tax1 cons1 if party==0,  row column all

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

           |              cons1

      tax1 |         1          2          3 |     Total

-----------+---------------------------------+----------

         1 |         2          8         18 |        28 

           |      7.14      28.57      64.29 |    100.00 

           |     20.00      80.00     100.00 |     73.68 

-----------+---------------------------------+----------

         2 |         8          2          0 |        10 

           |     80.00      20.00       0.00 |    100.00 

           |     80.00      20.00       0.00 |     26.32 

-----------+---------------------------------+----------

     Total |        10         10         18 |        38 

           |     26.32      26.32      47.37 |    100.00 

           |    100.00     100.00     100.00 |    100.00 

          Pearson chi2(2) =  21.4971   Pr = 0.000

 likelihood-ratio chi2(2) =        .

               Cramér's V =   0.7521

                    gamma =  -0.9677  ASE = 0.032

          Kendall's tau-b =  -0.6687  ASE = 0.082

              correlation =  -0.7257  (correlation of cons1 and tax1) 

              correlation =  -0.7814  (correlation of cons and tax)

1. The measures of association for Republicans are similar to those for all 

senators. 

2. Since No Republican Senator Supported those with Incomes Lower than 

their State’s Median Greater than 66% of the time, there is no need to display data for Tax category 3.

PAGE 278
Cross Tabulation of Senator Conservatism

And Support for Tax Changes Primarily Benefiting Households

With Median, or Lower, Incomes for Democratic Senators
tabulate tax1 cons1 if party==1,  row column all

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

           |              cons1

      tax1 |         1          2          3 |     Total

-----------+---------------------------------+----------

         1 |         5          8          3 |        16 

           |     31.25      50.00      18.75 |    100.00 

           |     10.64      72.73      75.00 |     25.81 

-----------+---------------------------------+----------

         2 |        15          3          1 |        19 

           |     78.95      15.79       5.26 |    100.00 

           |     31.91      27.27      25.00 |     30.65 

-----------+---------------------------------+----------

         3 |        27          0          0 |        27 

           |    100.00       0.00       0.00 |    100.00 

           |     57.45       0.00       0.00 |     43.55 

-----------+---------------------------------+----------

     Total |        47         11          4 |        62 

           |     75.81      17.74       6.45 |    100.00 

           |    100.00     100.00     100.00 |    100.00 

          Pearson chi2(4) =  26.0495   Pr = 0.000

               Cramér's V =   0.4583

                    gamma =  -0.9077  ASE = 0.054

          Kendall's tau-b =  -0.5697  ASE = 0.068

              correlation =  -0.5892  (correlation of cons1 and tax1) 

              correlation =  -0.7169  (correlation of cons and tax)
1. Notice How the Democratic Scores are More Varied (i.e., you need all 

three categories on both variables.  Associations are similar to full senate.
Week 5 (47-63)

        >>> Might Ask on Quiz at the Beginning of the Period:



In the example in this week’s reading, why would



the defense attorney want a one-tailed test?
>>>>>
 Go Over the Last Week’s Quizzes

I. What Was the Major Purpose of the Reading 

Assignment?
A. To Explain Probability Theory, Statistical Inference and 

Hypothesis Testing


1. Relative Frequency Concept of Probability:

(number of successes)/(total number of equally probable 

outcomes)
2. Expected Value: (ASK AS A QUESTION) probability of 
occurrence multiplied by amount

a. Expected value of an entry in the Publisher’s Clearing 

House Contest is less than the postage




b. Mention Expected Value is terms of coverage





of medical insurance:




Expected Benefit = (probability of survival) x 

(expected years of life 

remaining)
c.Medical Research


A pill that has a 10% of prolong life by a month 

and is a better investment for a pharmaceutical company than a pill that has a 1 in 10,000 of being a “cure” but a 99.99 percent chance of being worthless.  As long as the pill is an “improvement” the pharmaceutical company “gets paid” regardless of the outcome to the patient.  (NY Times article on medical research in, I believe 2009)
3. Independent vs. Dependent Events




a. If one event (i.e., the number of the dice which comes





up when you roll it) has no effect on another event




(i.e., the number that comes up the next time you 
roll the dice), then the events are “independent.”

b. The joint probability of two separate independent 
events occurring is the product of their individual probabilities.

c. Michael Landon – simultaneous liver and 
pancreatic cancer. Both have a 5 year survival rate of 3%.  So, what was Landon’s probability of surviving 5 years?  (not  3%, but 3% of – i.e., times – 3% - i.e., 9 thousandths)

4. Long-Run Probabilities aren’t necessarily realized 
in the short-run

a. In this weeks reading assignment, what was 

the probability that even though the community was 50% African-American and 50% that an unbiased jury selection process would produce a 6 African-American/6 White jury? (about 23% - thus about a 77% chance that there would be more of one race than the other)
b. Since all bets have negative expectation, this is what 
every gambler is counting on (i.e., a “hot streak”)

c.. Ask class to explain casino owner Bob Stupak’s 
quote: I only make money when you win!
1. When you lose, you pay Stupak the “full” 
amount of your loss whereas he “underpays” you when you win.
2.Why you shouldn’t answer that your goal in a 
casino is to “win all you can.”  You need to set a limit on winnings.  If you play long enough the house percentage will ruin you.

5. Since long-term probabilities are not necessarily 
realized in the short run, the sample can look very different than the population it was taken from.  This is why you were assigned this material.


>>>>>>
a. Thus, if we find a relationship in our sample




how confident can we be that it exists





in the population of interest?
6. Difference between a Sample and a Population
a. Population is all those objects that share a common

characteristic.  A sample is a fraction/subset of the population.  The sample is random if every member of the population has an equal chance of being selected.
b. Sampling Theory – Example of Selling Your Car – at 
what what point do you stop taking bids?  Unless the demand for used cars changes over the period of time you’re selling, aren’t the “bids” equivalent to sampling from a population? If the bids are relatively close to each other dollar-wise,, it tells you that your bids are probably close to the population mean.

1. The variation within a sample is 
predictive of the variation between samples.  Thus, if there is little variation within a random sample (i.e., everyone scores about the same) then, if we resample, the results are likely to be pretty similar.

2. Use diagram on p. 70 of Pindyck and Rubinfeld,

Econometric Model and Economic Forecasts, 2nd ed., to demonstrate sampling theory and parameter estimates based on sampling theory (i.e., the normal curves used to describe maximum likelihood estimation). 



7. Bayes’s Theorem

a. Re-evaluate your sense of the population value in light of 

the sample results.

b. Dr. Gonzalez – if the 5 year survival rate on pancreatic 

cancer is 4%, what is the probability that his sample would average 50%?  Before long, you would shift your belief in the effectiveness for the treatment from a 5 year survival of 4% to some much higher figure. Put another way, it is highly unlikely that the success rate for Gonzalez is the same as for conventional treatments.  It is much more likely that the Gonzalez sample was drawn from a population (all those pancreatic cancer patients treated by Gonzalez) with a much higher survival rate than the population of all those treated by conventional treatments.



8. Statistical Significance vs. Substantive Importance

a. There may be a 50%, or so, chance that an 
independent variable has a large effect on the dependent variable, but because there is greater than a 5% chance it has no effect, the result is statistically insignificant.

b. Alternatively, a statistically significant effect of 
Democratic party control of the Presidency on the unemployment rate may mean that we are very certain the impact is quite small.  First, ask class why the Democrats should produce lower unemployment than the Republicans. For example, suppose the results tell us that there is a 95% chance that, all other factors being equal, unemployment will be between 1/10,000 and 1/11,000 of a percentage point lower, after four years, of a Democratic administration.  If so, this would mean that although unemployment was lower under the Democrats, what we are very sure of is that there is virtually no difference (but the results would still be “statistically significant”).  To complete the example, it’s actually about a 2% difference after 4 years.   




9. Discuss Pages 53-63 – Just Go 
Over Each Page




a. Ask them, “What is the Null Hypothesis”?



b. Ask them, “ What is the difference between a 




Type 1 and Type 2 error?
c. Ask them, “If we reject the null hypothesis


and the null hypothesis is false, what type 
of error did we commit?”  (None! We made


the correct decision) 
d. Begin discussion of p. 53 by mentioning that we 
know the probabilities of the racial composition of 
each possible jury from the table on the top of p. 
48.



e. Read last part of the second paragraph on





Page 54
f. Type I vs. Type II error – Why so little interest in a 
Type II error? (Two reasons: 1 – If we reject the null hypothesis we are making a “claim of knowledge”; 2 – since our theory isn’t functionally specific, we can’t calculate a type II error [use Cricket Cigarette Lighter example: you 
promised a 3% error rate instead of the 6% error rate they currently had – so, if they installed your process and the first hour there was a 6% error rate, using specific percentages in your answer, what question should you ask? – How likely would you receive a 6% error in the trial when the long-term error rate of the new process is really 3%? – there’s a functionally specific alternative – 3% instead of 6% - so, you can calculate the probability of committing a type II error – retaining the null hypothesis (Ask them what the null hypothesis is in this case – it’s that the difference in the error rates is zero, not that the error rate itself is zero) that the two error rates are the same vs. rejecting in favor of the hypothesis that the new process has a lower error rate than 6%]



g. Pages 57-60 Very Carefully
10. Bush v. Gore 2000 – APSR article on December, 2001,
 

p. 800
11. Sampling – pp. 2-11 of Public Opinion Notes 

a. Well done polls are relatively accurate 
1. Reasons why pre-election polls may not be as 

accurate as we might think:

a. In some instances public opinion was 
changing over the polling period.

b. It is difficult to predict who will actually 
turnout to vote (good “filter questions” on turnout




are difficult to formulate).
c. Probability Answers (Manski)

1. Rather than the respondent 
answering their likelihood of voting by a Likert








scale (i.e., highly likely to vote, 

somewhat likely to vote, etc.) they answer by stating their “percent chance” of voting (i.e., you could list any probability, not just from a series of categories imposed by the researcher)

2. Manski finds that voters who 
choose the same category on a Likert scale (e.g., very likely to vote) give very different probabilities of voting (e.g., one “very likely” voter may say their “percent chance” of voting is 85% whereas another “very likely” voter may say their “percent chance” of voting is 55%).

a. Apply to “reasonable doubt” 

judicial standard (does this mean that if a juror thinks that the defendant has greater than a 5% chance of being innocent, they should vote “not guilty”?)








b. Frank Baber – jurors do tend









pick a probability around









.05 (again, why statistics









is important to the law)







3. Manski finds that respondents can








answer in numerical terms.


d. Difference between Results “Hard Data” 

Aggregate Studies of the Impact of the Economy on Congressional Elections and the Results from Surveys (Jacobson)


a. First, what should be the relationship
between rate of increase in “real disposable income” and the share of the congressional voting going to the incumbent party? (positive)
1. Studies using aggregate data 

support the above hypothesis. 
2. However, survey results show 

basically no impact for the respondents assessment of the vote on their vote choice in congressional elections. Why?
a. Because the impact is 
“indirect”: when the increase in real

disposable income is low, elites (both potential candidates and large donors) respond by either withholding their candidacy, money, etc. from the incumbent party and/or the reverse for the minority party which results in a better electoral outcome for the minority party. 

b. Conservative Bias in Polls – The real bias is what is 



surveyed – only those groups affluent enough

to afford polls can have them done.  Typically,

such groups don’t want great change.

1. National Health Insurance – Little (if any) 
polling on people’s attitudes and information about a single-payer system.   None of the health care stakeholders want it and the “gainers” don’t have the money to conduct polls.


c. Sample Size – If we are doing a random sample, the 
larger the sample size, the closer the sample results will be to the population value.  This is why we prefer larger samples. 

1. This is demonstrated on p. 45 (sample size and

and accuracy), p. 63 (two rules for tests of statistical significance – 1- How great is the strength, size, magnitude of the relationship between X and Y? - 2- How many observations is this size, strength or amount/magnitude maintained over?) sample size) and p. 372 (use of “pooling” to increase sample size)

Week 6 (179-186)

>>> Give them an in class quiz to start the evening that


asks them what was the unit of analysis in the article



they used for the take-home quiz?

1. Go Over Last Week’s Quizzes
2. Go Over the Take-Home Quiz they just submitted.

a. Ask them all the questions, including those
you used on this assignment in POSC 300B

3. Review Prior Concepts by Using the Data Analysis

of California Counties (See Next Page)
PAGE 275 - California County Data – 

Variable Means and Standard Deviations
    Variable |       Obs        Mean    Std. Dev.       Min        Max

-------------+--------------------------------------------------------

      coll00 |        58    21.57241    9.636859       10.3       51.3

      coll90 |        58    18.77414    7.690289          9         44

      coll80 |        58    14.49573     5.49478    7.57449   34.33821

      coll70 |        58    10.70517     4.02263          3       26.6

    medinc05 |        58    48.49655    12.07092       29.5         78

-------------+--------------------------------------------------------

    medinc90 |        58    30.56216    7.490968     20.494     48.544

    medinc79 |        58    19.23843     3.30014     13.522     29.721

    medinc70 |        58    9.417241    1.446125        6.6       13.9

       obama |        58    53.22931    13.18758         30       84.2

     dukakis |        58    45.23448    8.256429       31.1       72.8

-------------+--------------------------------------------------------

    mcgovern |        58    40.85345    6.144009       26.9       56.1

     brown94 |        58    35.79483    9.655149       21.4       69.1

     brown74 |        58    48.43103    5.250036       39.3       61.8

     brown66 |        58    40.43448    6.261202       22.2       58.9

       prop8 |        58    56.66552    13.41972       24.9       75.4

-------------+--------------------------------------------------------

     prop209 |        58    61.57759    8.996063       29.5       72.3

     prop187 |        58    64.33448    10.49171       29.3       77.2

     prop128 |        58    28.18377    9.601343   12.15736   62.05421

      prop13 |        58    65.05192    6.733435   46.47887   76.27118

      prop14 |        58    63.52031    7.180588    48.2243   78.16655

Correlation of Change in Percentage of the Countywide Vote for the Democratic Presidential Candidate from 1988 to 2008
            |   ch8808   coll00 medinc05

-------------+---------------------------

      ch8808 |   1.0000

      coll00 |   0.6385   1.0000

    medinc05 |   0.6485   0.7962   1.0000

Correlation of Countywide Vote In Favor of Proposition 8

with Socioeconomic, Demographic and Political Variables
             |    prop8    obama   coll00 medinc05   dens06  white05   afam05

-------------+---------------------------------------------------------------

       prop8 |   1.0000

       obama |  -0.8810   1.0000

      coll00 |  -0.8588   0.7457   1.0000

    medinc05 |  -0.5862   0.5984   0.7962   1.0000

      dens06 |  -0.3906   0.4162   0.4551   0.2599   1.0000

     white05 |   0.3393  -0.5394  -0.4523  -0.4484  -0.5694   1.0000

      afam05 |  -0.0080   0.2728   0.0732   0.2327   0.2531  -0.7316   1.0000

    hispan05 |   0.2989   0.0942  -0.2579   0.0210  -0.0590  -0.0755   0.2553

Correlation of Countywide Vote on Ballot Propositions
            |    prop8  prop128  prop187  prop209

-------------+------------------------------------

       prop8 |   1.0000

     prop128 |  -0.8813   1.0000

     prop187 |   0.8652  -0.8923   1.0000

     prop209 |   0.7524  -0.8600   0.9419   1.0000
Points to Emphasize Concerning California County Data
1. Notice how there is greater variation between counties 
as time advances (i.e., the standard deviation is a 
higher percentage of the means in later years).
2. Notice the strong relationship between and education, 
income and the change in the countywide Democratic 
Presidential vote between 1988 and 2008.


a. Since the correlations are both positive this means 


that the gains for the Democrats are coming 


from more well-educated and affluent counties.

b. This could mean a less economically populist 


Democratic party.
3. Early year propositions (e.g., Propositions 13 and 14) are 
not nearly as strongly related to socioeconomic and 
political variables as are more recent propositions.

a. Particularly the noneconomic propositions of later 


years (128 – Big Green, 187 – denying services 


to illegal immigrants, 209 – eliminating 



affirmative action in state programs, 8 – banning 

gay marriage)

4. Potential Ecological Inference Problems

II. Prepare them for Regression
A. Strength vs. Magnitude

B. Stress Limits of Univariate Models (use your discussion 
with Paul Rubin – the minimum wage and race of the congressman.

III. Three Criteria for an Estimator (Pindyck and Rubinfeld, 2nd 

ed., pp. 28-31) – Ask the Class What Criteria They 

Think the Estimator Should Meet?

1.Unbiased – that “on average” our estimates 

converge to the “true” population value.  Thus, if we re-sampled, we would get a different estimate of the magnitude from each sample.  If the estimator is “unbiased,” it means that the average of these sample estimates would equal the population magnitude.

2. Efficiency – we can say that an estimator is efficient 

if for a given sample size the variance of the population parameter being estimated (i.e., “B”) is smaller than the variance of any other unbiased estimator.

a. For example, consider the situation of a pilot 

choosing between unbiased altimeters (i.e., what tells the plane how high it is flying) 

b. An unbiased altimeter (i.e., one that, on 

average, reports the correct height) would not be that useful if the variance (i.e., dispersion in it’s estimates of the height) were, say, 5,000 feet. You could easily crash into a mountain.  On the other hand, an unbiased altimeter with a variance of 5 feet, would be quite useful.   

3. Consistency -  we would like out estimator to get 

closer to the population value as our sample size increases.  Roughly speaking, an estimator is consistent if the probability distribution of the estimator collapses to a single point (the “true” population parameter) as the sample size get arbitrarily large.

a. If you were estimating a population mean – e.g., 

the average support level for Bush, this would mean that as the sample grew to actually be the same size as the population, the estimate of Bush’s popularity would keep getting closer to his actual popularity in the population of interest (probably all registered adult voters – not necessarily all people in the U.S. or even all voting age people in the U.S.).

b. Typically, we will be estimating the magnitude, 

as opposed to a sample mean.  However, if you look at p. 81, you will see that the magnitude is really just a group of sample means (i.e., the “mean” predicted score on “Y” for differing levels of “X”).

D. Ask the Class if They Think the Above Criteria 

Might Involve  Any Tradeoffs? (e.g., between “bias” and “efficiency”)

1. Typically, political scientists, economists and other 

social scientists, tend to be more concerned with consistency than lack of bias as an estimation criterion.

2. Therefore, a biased, yet consistent estimator may not 

equal the true parameter on average, but will approximate the true parameter as the sample size grows.  



E. Thus, a slightly biased estimator may, on average,



be closer to the population parameter than an

unbiased estimator (i.e., the smaller variance of the biased estimator more than offsets the slight bias the estimator has).  This is the concept of minimum mean square error.

IV. Discuss Least Square Errors Criterion




(pp. 85-87)




1. Lowest Total Prediction Error or Lowest





Squared Error Total? (Squared Error)

2. Note that, if the regression assumptions we will later 

examine are met, then the ordinary least squares estimates of “b” and “a” are “BLUE” (i.e., Best, linear, unbiased, estimates).

V. Page 88 Diagram

Week 7 (64-81)
1.Give Quiz on Calculating the Covariance


2.Go Over Covariance Quiz (e.g., “the big error”)
3. Go Over the Last Week’s Quizzes 



>>>>> Ask them what was the “N” in the take home quiz (25 

because there were 25 justices).  If the answer 107, then

mention that the unit of analysis was a Supreme Court Justice, not a “case” (i.e., the hypotheses are about Supreme Court Justices).  In their term paper, they will use the President vote as a measure of constituency opinion.  The percentage of the vote for Bush in California is based on millions of votes.  The “N” in their study is 100 because they are using 100 senators.  The “N” isn’t several million (or whatever the Bush percentage is based on).


Question #1 – The average African-American justice voted in a 

manor consistent with majority or plurality African-American opinion 68% of the time while the average white justice voted in a direction consistent with majority or plurality African-American opinion 58% of the time.  Notice how I didn’t use jargon such as “symbolic representation.”  That answer interprets the numbers and leaves no doubt the writer understood what the variables measured.  That’s how you need to write answers.  When we get to regression, don’t write answer that say “the slope of a line” or “the relationship between X and Y” or the “y intercept,” etc.   I want very specific interprets not using jargon.  Such as you read for this week: If “a” is 1.08 it means that if the county had a 0% youth unemployment rate, that same county would be predicted to have a delinquency rate of 1.08%.
Thus don’t say, “1.08% is the point on the Y axis where the regression line intersects it (and then draw a graph)”    

Later on I’ll ask you for the “big picture” of what the result mean.  Right now, you’re learning the letters of the alphabet.  You need to be able to “speak the language” before you can discuss what the results might tell us.
“In this case Black Justices do represent the interest of the people they symbolically represent, on the other hand White justices perform negatively.”  (I told you not to use terms such as symbolic representation.  Also, no use of the percentages in the table – that was an important part of this –interpreting the numbers.  “Interests” of the people?  This sounds like the author, or someone else, has determined what is in the group’s interest.  That’s not the case.  The numbers register what percentage of the time the average black justice voted in a direction consistent with majority or plurality – if there wasn’t a majority – African-American opinion. 


“The 68% indicates that the percentage of times, out of 107 instances, the black justice (Marshall) ruled (should be “voted” – a single justice can’t make a ruling, only the full court can do that) in accordance with perceived black issues (same problem, doesn’t mention African-American public opinion but rather sounds like the researcher has determined what a perceived black issues – note, the percentages aren’t based on issues of interest or importance to African-Americans, but rather African-American opinion on the entire 107 cases/issues)





Question #2 – While the author can statistically control for the 

impact of the various independent variables, they cannot set the level of any independent variable.  Thus, since the author cannot change Sandra O’Connor from a woman to a man, he is using a nonexperimental research design.



“Each justice observed had a finite tenure on the bench 

and had a finite number of votes cast for cases heard.”    
Tenure on the bench isn’t a category of responses (i.e., tenure isn’t a variable).  The number of votes cast are part of the dependent variable, not an independent variable.  
“This opinion is taken from a national poll and Marshall is unable to change the opinions of a large number of people.”  Peoples’ opinions are part of the dependent variable, not an independent variable. Marshall isn’t able to change the opinions of any people, let alone a large number of people. 
“The on two variables that you could even toy with as far as setting levels is concerned are religion (set according to the strength of religiousity) and party identification (set according to the number of times the justice voted with his/her party).  The author can’t set the scores on these independent variables either.  Additionally, the author didn’t measure the strength of religiousity.  



Question #3 – A justice who is a member of a group votes in a 

direction consistent with majority or plurality public opinion of that group more frequently than non-group justices.  (As the instruction told you, you need a comparison.  Thus don’t write, as several people did, a hypothesis without a comparison.  A judge is more likely to vote with the general consensus of their racial community on a given issue.  (greater than who?)
“It is more likely than not that a Supreme Court justices decision in a given case is symbolically representative of his/her group identity’s majority opinion rather than an independent reflection of his/her own personal ideology.”  Everything’s wrong!  First, this is phrased in a manner than predicts that the justice will represent their group over 50% of the time (i.e., “more likely than not”).  No!!!  Look at page 28, the hypothesis is that a justice who is a member of a group will support majority or plurality public opinion of that group more often than non-group justices.  Any figure greater than the non-group figure supports the hypothesis – thus supporting your group 38% of the time whereas the non-group justices supported the group 28% does support the hypothesis even though 38% is less than 50%.   Second, we don’t test whether the justice decides on the basis of their group membership or their ideology (“is symbolically representative of his/her group identity’s majority opinion rather than an independent reflection of his/her own personal ideology”).  We don’t have measures of judicial ideology in the dataset.   
“A male is more likely to agree with the policy position of the male population than a female would.” We’re examing Supreme Court justices, not ordinary people.

“A person who is white is more likely to agree with the policy position of those who are white than a person who is black.” The article doesn’t test that.



Question #4 –
“None of the hypotheses are supported by the information provided in Table 1.”  Wrong!!!  Several of the hypotheses, including the first hypothesis – race – is supported (the 68% support figure for Thurgood Marshall is greater than the average white figure of 58%).  Given the small sample size 25, none of the results are strong enough to be significant at the .05 level (i.e., the null hypothesis – that a justice who is a member of a group is no more supportive of majority or plurality opinion of that group than justices who are not members of that group – is true greater than 5% of the time for every comparison in Table 1) 
“A type 1 error means that if we reject the null hypothesis and the null hypothesis is actually true- then we committed a type 1 error- which I think he actually did in this case, due to the results.” First, he doesn’t reject the null hypothesis. (p. 188 – “The evidence her suggests that little support can be found for the symbolic-to-policy representation thesis at the final voting stage of Supreme Court decision making.” Some of the results support the hypothesis, but they are hardly sufficiently definitive to plausibly reject the null hypothesis. Since he doesn’t reject the null hypothesis, he can’t commit a type 1 error (either he made the correct decision or committed a type 2 error). You couldn’t get published in a refereed political science journal knowingly committing a type 1 error.  Remember from past discussion (p. 54), we will never know for certain if we committed a type 1 error.  
“Because there is a 10% difference in voting records (by race), we can say that the data supports the hypothesis because 10% is larger than the 5%, and the difference in voting records is insignificant.”  The hypothesis isn’t that there is at least a 5% difference.  It’s simply that an African-American justice votes more in accordance with majority or plurality African-American public opinion than non-African-American justices.  Don’t confuse the difference in voting patterns with the 5% significance level.  As discussed on pages 62-63, with a very large sample (e.g., 1,000) even a 1% difference might be statistically significant at the .05 level. 
In Class Example of Interpreting Bivariate Regression Output
Y = annual income in thousands of dollars

X = years of formal education

a = 13.682

b = 1.4

Interpreting – MAKE THE MOST SPECIFIC STATEMENTS POSSIBLE AND DON’T USE JARGON (e.g., a, b, y intercept, etc.)
(1) Don’t say “X” and “Y” – if you know the names of the variables use them!

(2)If you are given the units of measure (as above) then do not say a “unit” 

increase (or decrease in), rather use the units of measure

(3)Don’t say “change” (doesn’t tell whether there’s an increase or a decrease)
(4)Don’t draw diagrams (i.e., where “a” – the “y intercept”)

(5)Don’t say “a,” “b” or “y intercept” – Just write one sentence that interprets the number
INTERPRETING “a”: Rather than saying the “y intercept” is 13.682 units or if “X = 0” Y is predicted to equal 13.682 or “X intercepts the Y axis at 13.682 - all that’s vague and doesn’t communicate much that’s readily understandable to an ordinary person.  RATHER SAY, AN INDIVIDUAL WITH NO YEARS OF FORMAL EDUCATION WOULD BE PREDICTED TO EARN $13,682.  

“b”: Rather than saying a one unit increase in education results in a 1.4 units increase in income or 1.4 thousand additional dollars, SAY FOR EACH ADDITIONAL YEAR OF FORMAL EDUCATION, A PERSON EARNS, ON AVERAGE, AN ADDITIONAL $1,400.

PAGE 285 - Regression and Correlation

Variable List

coll00 – percentage of the population 25, or older, in the county that has at 


least a bachelor’s degree

prop8 – percentage of the countywide vote in favor of Proposition 8 (ban 


on gay marriage)

prop128 – percentage of the countywide vote in favor of Proposition 128 


(environmental initiative – “Big Green”)

correlate coll00 prop8 prop128

(obs=58)

             |   coll00    prop8  prop128

-------------+---------------------------

      coll00 |   1.0000

       prop8 |  -0.8588   1.0000

     prop128 |   0.8627  -0.8813   1.0000

NOTE: In the regression results below, the entry in the “Coef.” column for 
“cons” is “a” (the y intercept) and the entry above “cons” is “b” - the 
impact of education on the dependent variable.
regress prop8 coll00

      Source |       SS       df       MS              Number of obs =      58

-------------+------------------------------           F(  1,    56) =  157.35

       Model |  7570.70588     1  7570.70588           Prob > F      =  0.0000

    Residual |  2694.36519    56  48.1136641           R-squared     =  0.7375

-------------+------------------------------           Adj R-squared =  0.7328

       Total |  10265.0711    57  180.088966           Root MSE      =  6.9364

------------------------------------------------------------------------------

       prop8 |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

      coll00 |  -1.195901    .095337   -12.54   0.000    -1.386884   -1.004918

       _cons |   82.46399   2.249299    36.66   0.000      77.9581    86.96988

------------------------------------------------------------------------------

. regress prop128 coll00

      Source |       SS       df       MS              Number of obs =      58

-------------+------------------------------           F(  1,    56) =  162.98

       Model |  3910.80131     1  3910.80131           Prob > F      =  0.0000

    Residual |  1343.78879    56  23.9962284           R-squared     =  0.7443

-------------+------------------------------           Adj R-squared =  0.7397

       Total |   5254.5901    57  92.1857912           Root MSE      =  4.8986

------------------------------------------------------------------------------

     prop128 |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

      coll00 |   .8595278   .0673284    12.77   0.000     .7246528    .9944029

       _cons |   9.641677    1.58849     6.07   0.000     6.459549    12.82381

------------------------------------------------------------------------------

1. Ask them how they would assess the correlation of countywide 
educational attainment and support for a gay marriage ban and the 
environmental initiative? (while the strength of association is 
virtually identically and very strong in each case (.85 vs. .86), the 
direction of the associations is opposite (i.e., county educational 
attainment is negatively associated with county support for a ban on 
gay marriage and strongly positively associated with support for the 
environmental initiative).

2. Ask them to interpret “a” for both equations (if no one 25, or older, in the 
county had at least a bachelor’s degree, then approximately 85% of 
the voters in that county would be predicted to vote in favor of 
Proposition 8 and about 10% would be predicted to vote in favor of 
Proposition 128)

3. Ask them to interpret “b” for both equations (for each one percentage 
point increase in the percentage of those 25, or older, who have a 
bachelor’s degree the percentage of those voting in favor of 
Proposition 8 decreased, on average, by 1.19 percent and the 
support for Proposition 128 increased, on average, by approximately 
8 tenths of 1 percent).  Since both the independent and dependent 
variables are in the same metric (i.e., percentages) a “b” value above 
1.0 should be viewed with caution (we’re saying that the dependent 
variable is changing more than the independent variable).
4. Emphasize that while the strength of the two correlations is almost 
identical, the values for “b” are noticeably different.

5. Explain the “t statistics,” “P>t” and the 95% confidence interval (is zero 
within the 95% interval for either equation? No!)

PAGE 286- Graph of the Relationships

County College Attainment and County Support for Proposition 8 

plot prop8 coll00
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County College Attainment and County Support for Proposition 128 

plot prop128 coll00
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1. Notice the visual difference between and positive and negative 
association.

2. Notice that even in the case of very strong relationships, the counties


would not all fall close to a regression line.

3. Ask them to interpret the numbers of each extreme for each variable.

4. Notice how the counties are clumped more toward the left side (i.e., less 
well-educated portion) of the graph.
I.  Go Over Specific Pages from the Text: 

A. Page 64 – Ask them: (1) What the unit of analysis is? (the 

county); (2) What is the value of N or how many observations are there? (10); (3) How many variables are there? (2); (4) What are the variables? (X = the percentage of the youths in a county who are unemployed, Y = the percentage of the county youths that are delinquent); (5) What is the independent variable? (X – youth unemployment rate); (6) What theory links the independent and dependent variables?; (7) What interpretation should I place on the variable means and standard deviations? (X mean = 40, st. dev. = 21.6; Y mean = 9, st. dev. = 4.9 – since the st. deviation is greater than 50% of the mean for both X and Y, each mean was obtained by averaging scores very different from the mean – i.e., either much higher or lower); (8) What is the hypothesis?; (9) Do the results support the hypothesis? (Yes) 

B. Go Over the Logic of the “Dots” on Pages 70-71
C. Ask them the purpose of the Covariance?  (to obtain a 

summary measure to assess if there is an associaton between the scores on two variables and, if so, the direction of this association) 

D. Ask “What Limitation of Covariance is Not a Limitation 

of Correlation?  (covariance tells us the direction
but not the strength or the magnitude of any association between variables whereas correlation tells both the direction and strength, but not the magnitude, of the association between two variables)
1. The covariation between two variables can equal, but not 

exceed, the product of their individual variations – this is what constrains correlation to being between –1.0 to +1.0 and permits the comparison of different correlations) - 75 – logic and limitations of correlation – show what a correlation of .96 graphs like – p. 247

E. Use Page 37 to Demonstrate Why the Magnitude (i.e., 

regression) is for most purposes superior to the strength (i.e., correlation) 


1. Ask them to interpret b = .198  on page 76


2. Compare the formulas on pp. 75-76 to demonstrate the “rise 

over run” approach of regression (the covariance is the numerator of both the correlation and regression formulas – so it’s the denominators that are different – for correlation the denominator is the product of the standard deviations of X and Y while for regression it is the variance in X – notice the variance is like a squared deviation – i.e., similar to the product of two square roots such as the standard deviation and also that regression involves the relationship between X and Y (the numerator) as X changes (the denominator) or “rise over run.” 
          F. Ask Them Why We Need the Y Intercept? (a starting point 

                           in order to predict a score on Y for a given score on X)

1. Notice that the Y intercept formula takes the rate of change

in X and Y (i.e., “b”) and runs it back to the Y axis at the  point where X = 0)


2. Ask them to interpret a = 1.08 on page 78

G. Go Over Page 81 (especially normal curves, predicted 

values and “e”)


1. Given X = 20, a = 1.08 and b = .198, what would




be the predicted value of Y? (5.05)


H. Bivariate Regression Example from “Senate” Dataset
Bivariate Regressions

Put results on the board and ask them to interpret:
. regress  tax cons

      Source |       SS       df       MS              Number of obs =     100

-------------+------------------------------           F(  1,    98) =  176.36

       Model |  52533.9423     1  52533.9423           Prob > F      =  0.0000

    Residual |  29192.8977    98  297.886711           R-squared     =  0.6428

-------------+------------------------------           Adj R-squared =  0.6392

       Total |    81726.84    99  825.523636           Root MSE      =  17.259

------------------------------------------------------------------------------

         tax |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

        cons |  -.7373191   .0555215   -13.28   0.000    -.8474997   -.6271385

       _cons |   72.42727   2.603626    27.82   0.000     67.26046    77.59409

------------------------------------------------------------------------------

regress  tax party

      Source |       SS       df       MS              Number of obs =     100

-------------+------------------------------           F(  1,    98) =   54.91

       Model |  29347.4325     1  29347.4325           Prob > F      =  0.0000

    Residual |  52379.4075    98   534.48375           R-squared     =  0.3591

-------------+------------------------------           Adj R-squared =  0.3526

       Total |    81726.84    99  825.523636           Root MSE      =  23.119

------------------------------------------------------------------------------

         tax |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

       party |   35.29372   4.762989     7.41   0.000     25.84172    44.74572

       _cons |   24.65789   3.750382     6.57   0.000     17.21538     32.1004

regress  tax  stinc

      Source |       SS       df       MS              Number of obs =     100

-------------+------------------------------           F(  1,    98) =    2.32

       Model |  1890.74561     1  1890.74561           Prob > F      =  0.1309

    Residual |  79836.0944    98  814.654024           R-squared     =  0.0231

-------------+------------------------------           Adj R-squared =  0.0132

       Total |    81726.84    99  825.523636           Root MSE      =  28.542

------------------------------------------------------------------------------

         tax |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

       stinc |   2.867243   1.882064     1.52   0.131    -.8676531    6.602138

       _cons |   20.14703   17.55795     1.15   0.254    -14.69614    54.99021

------------------------------------------------------------------------------


I. Page 195: tell them what each variable represents and 

how it is measured

a. Ask them to interpret the Y intercept (i.e., what 

would a score of “0” on conservative, party and median family income indicate?

1. Ask them if the Y intercept on Equation 1 on 

page 195 would have correspondence to the “real” world (it wouldn’t because you’d have a Republican senator with no conservatism representing a state with a median income of $0 –i.e., have the state’s households would have negative income)

a. Usually the intercept, for the above 

reasons, isn’t of much interest.  Rather it’s utility is in being part of the information necessary to make predictions.

2. Now discuss how the intercept in your regressions on African-American officeholding in the south was of interest (showed discrimination).

b. Ask them to interpret the “b” for conservatism, 

party and state median family income.

c. On pages 198-199 go through calculation of a

predicted score and then the actual score and residual.

V. Although You’ve Already Covered It - Ask the Class What 
Criteria They Think the Estimator (i.e., estimate of “b”) Should Meet?

A. Unbiased – that “on average” our estimates 

converge to the “true” population value.  Thus, if we re-sampled, we would get a different estimate of the magnitude from each sample.  If the estimator is “unbiased,” it means that the average of these sample estimates would equal the population magnitude.

B. Efficiency – we can say that an estimator is efficient 

if for a given sample size the variance of the population parameter being estimated (i.e., “B”) is smaller than the variance of any other unbiased estimator.

1. For example, consider the situation of a pilot 

choosing between unbiased altimeters (i.e., what tells the plane how high it is flying) 

2. An unbiased altimeter (i.e., one that, on 

average, reports the correct height) would not be that useful if the variance (i.e., dispersion in it’s estimates of the height) were, say, 5,000 feet. You could easily crash into a mountain.  On the other hand, an unbiased altimeter with a variance of 5 feet, would be quite useful.   

C. Consistency -  we would like out estimator to get 

closer to the population value as our sample size increases.  Roughly speaking, an estimator is consistent if the probability distribution of the estimator collapses to a single point (the “true” population parameter) as the sample size get arbitrarily large.

1. If you were estimating a population mean – e.g., 

the average support level for Bush, this would mean that as the sample grew to actually be the same size as the population, the estimate of Bush’s popularity would keep getting closer to his actual popularity in the population of interest (probably all registered adult voters – not necessarily all people in the U.S. or even all voting age people in the U.S.).

2. Typically, we will be estimating the magnitude, 

as opposed to a sample mean.  However, if you look at p. 81, you will see that the magnitude is really just a group of sample means (i.e., the “mean” predicted score on “Y” for differing levels of “X”).

D. Ask the Class if They Think the Above Criteria 

Might Involve  Any Tradeoffs? (e.g., between “bias” and “efficiency”)

1. Typically, political scientists, economists and other 

social scientists, tend to be more concerned with consistency than lack of bias as an estimation criterion.

2. Therefore, a biased, yet consistent estimator may not 

equal the true parameter on average, but will approximate the true parameter as the sample size grows.  



E. Thus, a slightly biased estimator may, on average,



be closer to the population parameter than an

unbiased estimator (i.e., the smaller variance of the biased estimator more than offsets the slight bias the estimator has).  This is the concept of minimum mean square error.



F. You might discuss Least Square Errors Criterion




(pp. 85-87)




1. Lowest Total Prediction Error or Lowest





Squared Error Total? (Squared Error)

2. Note that, if the regression assumptions we will later 

examine are met, then the ordinary least squares estimates of “b” and “a” are “BLUE” (i.e., Best, linear, unbiased, estimates).



G. Quiz Promises Made in the Text Will be Kept


H. REVIEW - Use Any Examples From 

Previous Weeks That You May Not Have Covered (examples might be Jacobson’s Congressional Vote Mean, Variance and Electoral Safety – i.e., congressmen were less safe with a higher mean vote over a series of elections because the standard deviation of the vote rose more than the mean – Crosstab example on pp. 374-376, controlling on page 31 – both the independent variable and the control variable “mattered” in the example, etc.) 
C. Use Pages 276-278 on Cross Tabulation and Measures 


of Association for Senate Dataset 

PAGE 276              Cross Tabulation of Senator Conservatism

and Support for Tax Changes Primarily Benefiting Households

With Median, or Lower, Incomes
Cons1 0-33 = 1, 34-66 = 2, 67-100 = 3

Tax1   0-33 = 1, 34-66 = 2, 67-100 = 3

tabulate tax1 cons1, row column all

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

Note: Interpret by the Independent Variable (cons1).  Thus,

column percentages (the lowest row of each cell) are


most important.  This is why I setup the table so that


conservatism was across the columns rather than


down the rows.  
           |              cons1

      tax1 |         1          2          3 |     Total

-----------+---------------------------------+----------

         1 |         7         16         21 |        44 

           |     15.91      36.36      47.73 |    100.00 

           |     12.28      76.19      95.45 |     44.00 

-----------+---------------------------------+----------

         2 |        23          5          1 |        29 

           |     79.31      17.24       3.45 |    100.00 

           |     40.35      23.81       4.55 |     29.00 

-----------+---------------------------------+----------

         3 |        27          0          0 |        27 

           |    100.00       0.00       0.00 |    100.00 

           |     47.37       0.00       0.00 |     27.00 

-----------+---------------------------------+----------

     Total |        57         21         22 |       100 

           |     57.00      21.00      22.00 |    100.00 

           |    100.00     100.00     100.00 |    100.00 

          Pearson chi2(4) =  58.8499   Pr = 0.000

               Cramér's V =   0.5424

                    gamma =  -0.9467  ASE = 0.029 (Asymptotic St. Er.)
          Kendall's tau-b =  -0.6695  ASE = 0.041

              correlation =  -0.6963  (correlation of cons1 and tax1)

              correlation =  -0.8017  (correlation of cons and tax)

1. Reading the Table: Column 3 upper right cell – 21 is 95.45% of 22 (the total number of senators who scored between 67-100 on conservatism); Row 1 upper right cell –  21 is 47.73% of the 44 senators who supported those with income below their state’s median 0-33% of the time.
2. Notice that the correlation is higher when the full range of scores (reduced measurement error) is used instead of the recoded version (i.e., 0-34 = 1, etc.).  Gamma is higher than K. tau because gamma omits ties (i.e., gamma would omit cells where the association is reduced through having the same score on one variable but a different score on the other variable).  

PAGE 277
Cross Tabulation of Senator Conservatism

And Support for Tax Changes Primarily Benefiting Households

With Median, or Lower, Incomes for Republican Senators
tabulate tax1 cons1 if party==0,  row column all

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

           |              cons1

      tax1 |         1          2          3 |     Total

-----------+---------------------------------+----------

         1 |         2          8         18 |        28 

           |      7.14      28.57      64.29 |    100.00 

           |     20.00      80.00     100.00 |     73.68 

-----------+---------------------------------+----------

         2 |         8          2          0 |        10 

           |     80.00      20.00       0.00 |    100.00 

           |     80.00      20.00       0.00 |     26.32 

-----------+---------------------------------+----------

     Total |        10         10         18 |        38 

           |     26.32      26.32      47.37 |    100.00 

           |    100.00     100.00     100.00 |    100.00 

          Pearson chi2(2) =  21.4971   Pr = 0.000

 likelihood-ratio chi2(2) =        .

               Cramér's V =   0.7521

                    gamma =  -0.9677  ASE = 0.032

          Kendall's tau-b =  -0.6687  ASE = 0.082

              correlation =  -0.7257  (correlation of cons1 and tax1) 

              correlation =  -0.7814  (correlation of cons and tax)

1. The measures of association for Republicans are similar to those for all 

senators. 

2. Since No Republican Senator Supported those with Incomes Lower than 

their State’s Median Greater than 66% of the time, there is no need to display data for Tax category 3.

PAGE 278
Cross Tabulation of Senator Conservatism

And Support for Tax Changes Primarily Benefiting Households

With Median, or Lower, Incomes for Democratic Senators
tabulate tax1 cons1 if party==1,  row column all

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

           |              cons1

      tax1 |         1          2          3 |     Total

-----------+---------------------------------+----------

         1 |         5          8          3 |        16 

           |     31.25      50.00      18.75 |    100.00 

           |     10.64      72.73      75.00 |     25.81 

-----------+---------------------------------+----------

         2 |        15          3          1 |        19 

           |     78.95      15.79       5.26 |    100.00 

           |     31.91      27.27      25.00 |     30.65 

-----------+---------------------------------+----------

         3 |        27          0          0 |        27 

           |    100.00       0.00       0.00 |    100.00 

           |     57.45       0.00       0.00 |     43.55 

-----------+---------------------------------+----------

     Total |        47         11          4 |        62 

           |     75.81      17.74       6.45 |    100.00 

           |    100.00     100.00     100.00 |    100.00 

          Pearson chi2(4) =  26.0495   Pr = 0.000

               Cramér's V =   0.4583

                    gamma =  -0.9077  ASE = 0.054

          Kendall's tau-b =  -0.5697  ASE = 0.068

              correlation =  -0.5892  (correlation of cons1 and tax1) 

              correlation =  -0.7169  (correlation of cons and tax)
1. Notice How the Democratic Scores are More Varied (i.e., you need all 

three categories on both variables.  Associations are similar to full senate.
Week 8 (82-100)

>>>>> Findout What Days/Times the SPA Computer Lab 

is Available to Students – In Class, Tell them the Days/Times 

1. Over the Last Week’s Quizzes 


3. Take-Home Quiz on Logarithmic Models – Part of this week’s quiz 

is to be done at home. Using an example from one of your two examination fields, specify and defend a logarithmic model (i.e., name the independent and dependent variables, how you would measure the variables, and why you think the relationship would likely be logarthimic). Would the relationship likely be positive or negative? Why? Do not use an example from the book! Use a non-theory subfield. 
4. Go over the quizzes they just took


5. Ask them the logic (i.e., why) we would use a logarithmic model?



a. Because while the direction of the relationship does not

change, the rate of change does change.  An exponential model could also fit here, but the increase/change in the rate of change is probably too drastic for the type of relationship dealt with in the reading assignment.
6. Since they just used a logarithmic model, explain the 

“math” of the model.



a. Have the computer read the exponents of the base rather




than the “main number” (or the number expressed in




nonexponential form).



b. Page 98 is “the key.” In Figure 1 the first score on the X axis 
is 10.  The first score in Figure 2 is 2.3, which is 2.71828 to the 2.3 power.

c. Notice how the 7 to 1 ratio of the highest to lowest scores 

on the X axis in Figure 1 (i.e., 70 to 10) becomes a ratio of less than 2 to 1 in Figure 2 (i.e., 4.2 is less than twice the size of 2.3).  This slows down the rate of change. 
7. Note that we run OLS on the transformed variables.  Thus, the 

model is linear in the coefficients (i.e., no “b” is raised to a power other than “1”), but  nonlinear in the variables (i.e., “log X” instead of “ X”).


8. Now show them how “logs” spread out the scores on a variable 

where the scores are highly concentrated (p. 258).  This is the opposite of the OSHA example in the book where “logs” more concentrate the scores on a variable that is highly dispersed.


9. USE PAGES 279-280
Page 279

Logarithmic Variable Relationships

Variable List: blktot = percentage of the county elected officials in North 
Carolina were African-American; blkreg = percentage of the 
registered voters in a county who are African-American (1980, 1982 
and 1984 – i.e., three years for each of the 100 counties 
Linear Model
      Source |       SS       df       MS              Number of obs =     300

-------------+------------------------------           F(  1,   298) =  191.03

       Model |  6182.53094     1  6182.53094           Prob > F      =  0.0000

    Residual |  9644.30573   298   32.363442           R-squared     =  0.3906

-------------+------------------------------           Adj R-squared =  0.3886

       Total |  15826.8367   299  52.9325641           Root MSE      =  5.6889

      blktot |      Coef.   Std. Err.      T    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

      blkreg |   .3113559   .0225269    13.82   0.000      .267024    .3556879

       _cons |  -1.248558   .5381414    -2.32   0.021    -2.307597   -.1895195

    47 +  

         |                                                                 *

         |  

         |  

         |                                                             *

         |                                                                 *

         |  

    b    |                                                           *

    l    |                                             *   *

    k    |  

    t    |                                             *

    o    |                                                            *  *

    t    |                             *                       *

         |  

         |                           * *   *   * *  ** **  * * **  **   *

         |            *  * *  ** *  *   *      *   *       *

         |         *        **** *    *     *

         |         **   *  * *  *  ******* *  ** * * ** **  ***         *

         |     *     ** ** * *   * ******  ****  *

         |  

       0 + ******* ******* ******* **** ** ******* *******

                0                     blkreg                           56

PAGE 280
Logarithmic Independent Variable Model
     Source |       SS       df       MS              Number of obs =     286

-------------+------------------------------           F(  1,   284) =   92.27

       Model |   3803.4413     1   3803.4413           Prob > F      =  0.0000

    Residual |   11706.772   284  41.2210281           R-squared     =  0.2452

-------------+------------------------------           Adj R-squared =  0.2426

       Total |  15510.2133   285   54.421801           Root MSE      =  6.4204

------------------------------------------------------------------------------

      blktot |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

    lnblkreg |   3.396098   .3535504     9.61   0.000     2.700187     4.09201

       _cons |   -3.88385   .9872943    -3.93   0.000    -5.827192   -1.940507

------------------------------------------------------------------------------

      47 +  

         |                                                                 *

         |  

         |  

         |                                                                *

         |                                                                 *

         |  

    b    |                                                               *

    l    |                                                           **

    k    |  

    t    |                                                           *

    o    |                                                               **

    t    |                                                    *        *

         |  

         |                                                  * **  *********

         |                                     *   **   * * * *   **  *

         |                               *            *** *  *  *

         |                               *  *     * *  * * ***** *******  *

         |                       *           * *  ***  *  ******** *

         |  

       0 + *          *     *    *  *  * *  ** * **** *****************

          +----------------------------------------------------------------+

                0                    lnblkreg                     4.02535

1. Interpret the coefficients, t ratios and r-squared for each model?
2. Which model fits the data better?

3. What logic would have suggested a logarithmic model?
10. Make Sure You Ask/Explain the Logic of Each of the Following



a. R2     
1. In the absence of any information, what is our best 

prediction of a score on the dependent variable? the Mean – So does Knowledge of Variable X allow us to predict Y any less inaccurately than

just predicting the mean for each score on Y?

2. Column 11 on page 65 shows the difference between 

the mean of 9 and out prediction in column 8.  Squaring each score in column 11 yields column 12, and the total of the scores in column 12 are our “prediction improvements.”  If we take the prediction improvements of 163.8 in relation to the total variation in Y of 216, we get the value of R squared (.76).  This means that variation in variable X, county youth unemployment rates, explains 76% of the variation in county delinquency rates.  It does not ean that we made the correct prediction 76% of the time.
b. Explain Diagram on Page 88



c. Explain t ratio and St. Error formulas on P. 89




1. Use pages 254-255 in the back of the book




2. Explain how the two principles of any significance

test (pages 62-63) are reflected in the t ratio

on pages 89 and 91




3. Explain the Diagram on Page 90.

11. Explain the logic of least squares.  Explain that if “b” (page 76) 
had been any other value except .198 or “a” (page 78) had any other value than 1.08, then the total squared error at the bottom of column 10 on page 65 would have been greater than 51.96.
a.The Least Squares Estimating Procedure penalizes large 
errors more than smaller errors that add up to the same amount (i.e., 2 errors of 2 each are better than one error of 4 – even though the total prediction error is 4 in both instances – the squared error total is twice as high for the lone prediction error of 4 than for the 2 errors of 2 each – thus 4 x 4 = 16 and (2 x 2) + (2 x 2) = 8).  That’s the essence of page 86.   

b. OLS provides estimates of “b” that are unbiased, 

efficient (minimum variance among unbiased estimators) and consistent (as the sample size increases the estimate collapses to the true population value)

In Spring 2010 the Next Assignment was the due the first week back from Spring Break – Over the Spring Break You Sent them an Email with their point total, rank in the class and grading scale to that point. The following messages contain three different versions of the email you sent to each student.  The version used depends upon how well the student was doing.

Mr. Niayesh,

You're a pleasure to have in the class! Including last night's quiz your current scores are as follows: 20 30 30 30 20 30 27 27. Dropping your lowsest quiz and adding up all the others gives you a total of 194 points (out of a possible 210) at this point in the semester. If the grades were given at this time, you would make an "A." You have the second highest point total in the class! Keep up the good work! Immediately below is a grading scale and frequency distribution for the entire class. Hope to hear from you about the work ahead!

                                   Chris
Current Grading Scale:

A: 183-210 (6)
B: 145–182 (9)
C: 100-144 (1)

Frequency
Distribution:

199 – 1
194 - 1
191 – 1
189 – 1
186 – 1
183 – 1
182 – 3
174 – 1
173 – 2
164 – 1
155 – 1
148 – 1
141 – 1
Mr. Alvarez,

Including last night's quiz your current scores are as follows:

13  30 18 25 20 23 12  8. Dropping your lowsest quiz and adding up all the others gives you a total of 141 points (out of a possible 210) at this point in the semester.  If the grades were given at this time, you would make a "C."  A "B" is not out of the question.  But you'll need to improve in order to earn it.  Immediately below is a grading scale and frequency distribution for the entire class.  Hope to hear from you about the work ahead!

                                   Chris

Current Grading Scale:

A: 183-210  (6)

B: 145–182 (9)

C: 100-144 (1)

Frequency 

Distribution:

199 – 1

194 -  1

191 – 1 

189 – 1 

186 – 1

183 – 1

182 – 3

174 – 1

173 – 2

164 – 1

155 – 1

148 – 1

141 – 1

Ms. Juergens,

I didn't find a take-home quiz for you.  If you turned one in last night please send it to me. It could change the following a bit (but not much).  Including last night's quiz your current scores are as follows:18  30 20 20 30 12 25 8. Dropping your lowsest quiz and adding up all the others gives you a total of 155 points (out of a possible 210) at this point in the semester.  If the grades were given at this time, you would make a "B."  An "A" is not out of the question but would be very difficult to make.  As I mentioned the first night, the grade isn't everything.  A good term paper will provide a solid basis for either entering another degree program or entering the job market.  That's important. Immediately below is a grading scale and frequency distribution for the entire class.  Hope to hear from you about the work ahead!

Mr. Gunderson,

Including last night's quiz your current scores are as follows:

29  30 16 30 20 18 27 20. Dropping your lowsest quiz and adding up all the others gives you a total of 174 points (out of a possible 210) at this point in the semester.  If the grades were given at this time, you would make a "B."  An "A" is not out of the question.  But you'll need to improve in order to earn it. While you are only 9 points away from an "A" at this point, it's important to remember that you will need to score higher than those above you in order to "move up."  Thus, even if you score 30 on a weekly quiz, you only gain if some of the people currently making an "A" score less than 30.  If they score 30, you haven't "closed the gap."  I say that not to discourage you but rather provide a realistic assessment. Don't give up.  Just realize that you're in for a tough battle. Immediately below is a grading scale and frequency distribution for the entire class.  Hope to hear from you about the work ahead!

                                   Chris

Current Grading Scale:

A: 183-210  (6)

B: 145–182 (9)

C: 100-144 (1)

Frequency 

Distribution:

199 – 1

194 -  1

191 – 1 

189 – 1 

186 – 1

183 – 1

182 – 3

174 – 1

173 – 2

164 – 1

155 – 1

148 – 1

141 – 1

Week 9 (101-114)

I. Give the Multiple Regression Quiz on the British National 

Health Service.

A. They cannot use terms such as “unit,” “y intercept,” “b,” etc.

B.ONLY ONE SENTENCE PER TERM – THAT”S ALL I’LL READ!

1. THUS, “a” must be interpreted in one sentence.  CAN


ONLY WRITE 7 SENTENCES.

II.If You Gave Out the Mid-Term Grade Evaluations Since the 
Last Class Meeting Stress the Following:

A.The Overall Grade Distribution Will Not be Lower Than 

the Mid-Term Grade Distribution (i.e., if someone goes “down” a letter then at least one person must go “up” a letter)


B.If You Had a Middle to Low “B” at the Mid-Term All Is Not 

Lost

1.Some of the Skills Examined byTests/Quizzes (e.g., 

speed) are Not Always the Same Skills Most Needed  to Have a Successful Career (e.g., the willingness to think deeply about a problem over an extended period of time).   



2.While the chances are high that you’ll finish with a 

“B” – the Term Paper and Adding a Practitioner Letter Based on the Analysis in Your Term Paper to Your Placement File is Likely More Valuable to Your Ultimate Career than the Difference Between Making an “A” and a “B” in POSC 550

3.Jose Martinez (who wrote the highly criticized 

version  of Quiz #1 and who made a middle-to-low “B” in POSC 550) followed the path of obtaining a practitioner letters about his skills and is in a Graduate Program in Education at UCLA and will, no doubt, have a better career than the very bright and “A” student in POSC 550, Sean Forbes (who writes adds and contracts for apartment rentals)


C.If I knew Who Would be Working on Obtaining the 
Practitioner Letter and/or Revising their Term Paper to Obtain Such a Letter this Coming Summer, I’d have a Better Predictor of Your Eventual Career than Your Grade in this Course.
1.If you Don’t Have the Predictors (e.g., 
prestigious/technical degree) then You Need Performance (i.e., the paper in this course plus what I call the “practitioner letter).”

III. If the Term Paper Outline and Appendix A are Due Next Week 

Go Over Each Item
IV. Collect this Week’s Quizzes
IV. Tell them to Turn to Page 192 – Go Over the Variable List
and Turn to Page 195 – Equation 1 and Interpret “a” and the three three “b” values (forget about the “beta” column for now).

A. What condition would “a” of 67.382 indicate?  (a senator 

who was 0% conservative – i.e., as liberal as possible, was a Republican and whose state had a median income of $ in 1970 would be predicted to support the poor 67.4% of the time – why would a senator with no conservatism be in the Republican party?  Also, are have the state’s workers either working for nothing or earning a negative income – i.e., paying their employers for the privilege of working for them?)

B. Go Over all 4 t Statistics
C. Go Over the R squared of .67 (it is a coincidence that “a” 

is 67 when R squared is .67 – no connection)

1. If we have no independent variables, what is the best guess we can make for a score on the dependent variable? (The mean – which in this case is what? – from the bottom of page 195 the mean of the dependent variable “tax” is 46.5)

2. Have them turn to page 198 and show them the computation for senator #1.  In absence of the scores on the three independent variables, we would have predicted that senator #1 would have supported the poor at the mean level (i.e., 46.5% of the time) but because of the senator’s scores on the three in
3. dependent variables, we change this prediction from 46.5% to 57.7%.  From page 199 we see that senator #1 actually supported the poor 54% of the time. So, shouldn’t the independent variables get “credit” for increasing the accuracy (or reducing the inaccuracy) of our prediction? (without the independent variables we would have had a “residual” of 7.5 – thus 54 - 46.5 = 7.5 but because of the knowledge of the three independent variables the prediction error is reduced from 7.5 to -3.6 – thus 54 – 57.7 = -3.7 – so the absolute size of the prediction is reduced over 50% - 3.7 is less than half of 7.5 and the “squared” prediction total is reduced from 56.25 (7.5 x 7.5 = 56.25) to 13.69 (-3.7 x – 3.7 = 13.69).  

4. An R squared of .67 means that we can reduced that knowledge of all the independent variables together reduces the squared prediction error total that we would make on the basis of predicting every score to mean the mean by 67% when using the information provided by all the independent variables together. NOTE: an R squared


      of .67 CANNOT be interpreted to mean either that we



      made the correct prediction 67% of the time OR that

    

      67% of the time the independent variables influence the



      dependent variable.

D. The Criteria by Which “a” and all “b” values are choosen 

- the Least Squared Error Criteria (i.e., four perfect predictions and one prediction error of 4 is worse than 5 predictions that are each 1 “off” (that was the message of pp. 86-87) 


1. In equation 1 on page 195, the squared error total is 

26,840 which means if “a” or any of the three “b” values in equation 1 were different then what would happened to the squared error total of 26,840? (It would increase)
2. Look at particular error senator prediction errors on page 

199.


E. How Does the Computer Generate the Values of “a” and 

all “bs” that Minimize the Squared Prediction Error Total?

1. Through calculus, for a bivariate regression you 

get the formulas for “a” and “b” which appear on pages 76 (b) and 78 (a). 

F. To Show You a More Conceptual Basis of the Derivation

Of the Multiple Regression Approach Turn to Page 249
1. Page 249 shows why we need multiple regression – 
the values for “b” change as the number of independent variables change.  So, we need to use theory to indicate what independent variables should be in the model to begin with and then estimate the impact of each independent variable with all others in the equation (i.e., simultaneously).



2. Now Go Over Pages 250 – 253.
V. Polynomial Models
a. Theory – the direction of the relationship changes from 

positive to negative or vice versa.  Remember that with logarithmic model the direction of the relationship is constant (what changed was the rate of change).  Compare pages 98 and 103. 



b. Explain the “math” of the model (pp. 104-105).

c. Note that we run OLS on the transformed variables.  Thus, 

the model is linear in the coefficients (i.e., no “b” is raised to a power other than “1”), but  nonlinear in the variables (i.e., “X2” instead of “X”).  Same with logarithmic model last week.



d. Go over pp. 258-259. 
1. Note that the signs on LENERGY (+) and LENSQ (-)


are as hypothesize (although insignificant). Also

note while the R2 is higher in the bottom than the middle equation while the adj. R2 is lower in the bottom than middle equation (because the t stat. for LENERGY and LENSQ are lower than 1.0)

PAGE 281 - Polynomial Variable Relationships
North Carolina – 100 counties for 1980, 1982, 1984 

Variable List:


blktot = percentage of county elected officials who are African-American


blkreg = percentage of registered voters in a county who are African-


American


blkregsq = blkreg x blkreg


blkregcub = blkreg x blkreg x blkreg
Linear Model
      Source |       SS       df       MS              Number of obs =     300

-------------+------------------------------           F(  1,   298) =  191.03

       Model |  6182.53094     1  6182.53094           Prob > F      =  0.0000

    Residual |  9644.30573   298   32.363442           R-squared     =  0.3906

-------------+------------------------------           Adj R-squared =  0.3886

       Total |  15826.8367   299  52.9325641           Root MSE      =  5.6889

      blktot |      Coef.   Std. Err.      T    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

      blkreg |   .3113559   .0225269    13.82   0.000      .267024    .3556879

       _cons |  -1.248558   .5381414    -2.32   0.021    -2.307597   -.1895195

    47 +  

         |                                                                 *

         |  

         |  

         |                                                             *

         |                                                                 *

         |  

    b    |                                                           *

    l    |                                             *   *

    k    |  

    t    |                                             *

    o    |                                                            *  *

    t    |                             *                       *

         |  

         |                           * *   *   * *  ** **  * * **  **   *

         |            *  * *  ** *  *   *      *   *       *

         |         *        **** *    *     *

         |         **   *  * *  *  ******* *  ** * * ** **  ***         *

         |     *     ** ** * *   * ******  ****  *

         |  

       0 + ******* ******* ******* **** ** ******* *******

                0                     blkreg                           56

PAGE 282 - Model Containing Squared African-American Voter Strength
      Source |       SS       df       MS              Number of obs =     300

-------------+------------------------------           F(  1,   298) =  244.22

       Model |  7128.50933     1  7128.50933           Prob > F      =  0.0000

    Residual |  8698.32734   298  29.1890179           R-squared     =  0.4504

-------------+------------------------------           Adj R-squared =  0.4486

       Total |  15826.8367   299  52.9325641           Root MSE      =  5.4027

------------------------------------------------------------------------------

      blktot |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

    blkregsq |   .0070043   .0004482    15.63   0.000     .0061222    .0078863

       _cons |    .646155   .4033848     1.60   0.110    -.1476889    1.439999

      47 +  

         |                                                                *

         |  

         |  

         |                                                          *

         |                                                                *

         |  

    b    |                                                      *

    l    |                                *    *

    k    |  

    t    |                                *

    o    |                                                        *     *

    t    |             *                              *

         |  

         |           * *  *    *  *  **   **   *  *   * *  *  *       *

         |   ** ** **   *      *   *           *

         | *   *** *  *     *

         | **** * * *******   **  **  * *  * *  * * *                 *

         | **** *  ****** * ***   *

         |  

       0 + ************ *** **** *** ** * ** *

          +----------------------------------------------------------------+

                0                    blkregsq                        3136

PAGE 283 - Model Containing Cubic African-American Voter Strength
      Source |       SS       df       MS              Number of obs =     300

-------------+------------------------------           F(  1,   298) =  264.25

       Model |   7438.3761     1   7438.3761           Prob > F      =  0.0000

    Residual |  8388.46057   298  28.1491965           R-squared     =  0.4700

-------------+------------------------------           Adj R-squared =  0.4682

       Total |  15826.8367   299  52.9325641           Root MSE      =  5.3056

------------------------------------------------------------------------------

      blktot |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

   blkregcub |   .0001485   9.13e-06    16.26   0.000     .0001305    .0001665

       _cons |    1.60719   .3587689     4.48   0.000     .9011486    2.313232

     47 +  

         |                                                                 *

         |  

         |  

         |                                                       *

         |                                                                 *

         |  

    b    |                                                 *

    l    |                      *     *

    k    |  

    t    |                      *

    o    |                                                    *        *

    t    |      *                             *

         |  

         |     **  *  *  *  **  * *   *   *   * *    *  *           *

         | ****  *    *   *           *

         | ***  *  *

         | ********* **  **  **   * *  *  * *                       *

         | ******* ***   *

         |  

       0 + ************ *** *** * * *

          +----------------------------------------------------------------+

                0                    blkregcub                      175616
      Source |       SS       df       MS              Number of obs =     300

-------------+------------------------------           F(  3,   296) =  101.80

       Model |  8037.19616     3  2679.06539           Prob > F      =  0.0000

    Residual |   7789.6405   296  26.3163531           R-squared     =  0.5078

-------------+------------------------------           Adj R-squared =  0.5028

       Total |  15826.8367   299  52.9325641           Root MSE      =  5.1299

------------------------------------------------------------------------------

      blktot |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

      blkreg |   .7186047   .1509154     4.76   0.000     .4216015    1.015608

    blkregsq |  -.0322815   .0071578    -4.51   0.000     -.046368   -.0181949

   blkregcub |   .0005315   .0000919     5.78   0.000     .0003506    .0007123

       _cons |  -1.399176   .7664234    -1.83   0.069    -2.907505    .1091539

------------------------------------------------------------------------------

correlate blkreg blkregsq blkregcub if state==2

(obs=300) 
             |   blkreg blkregsq blkreg~b

-------------+---------------------------

      blkreg |   1.0000

    blkregsq |   0.9508   1.0000

   blkregcub |   0.8654   0.9752   1.0000

1. Ask them to interpret the coefficients, t ratios and r-squared for each 
equation.

2. Notice how both the t ratios and the r-squared increase as we go from 
linear to squared to cubic models.

3. Ask them why the absolute value of the coefficients decrease each 
time the powers of African-American voter strength increase.

4. Ask them to explain the numbers at the ends of both the X and Y 
axes.

5. Ask them if they see a difference in the pattern of the dots in each of 
the three graphs.

6. Notice that all three power of blkreg are statistically significant in the 
multivariate analysis and that the sign on the squared term is 
negative.


a. ASK THEM TO INTERPRET THE Y INTERCEPT – since it’s



negative it means that African-Americans are not getting their 


share of the offices.

7. Notice how strong the correlations of the three African-American 
voter strength variables are.
V. Next Week – Go Over Both the Term Paper Outline and How to Prepare Appendix A
Additional Material – Week of Assignment 9


Since the week that Assignment 9 (outline and Appendix A of the term paper) is due, there isn’t a new statistical reading assignment, the natural question is: What do you cover in class that night?  The obvious “first” answer is anything that you haven’t covered that was on the previous few weeks lesson plans.  A “second” answer is to take your own research that you haven’t discussed in class yet (e.g., party differences – Hibbs, federal taxes – the SPR article, the SSJ articles and Bartels Tables 1 and 2 – not either probit or the ones in the coursepack – also Bartels, pp. 241, 268-269), run off the “main equation” from each article and discuss it.  A “third” answer would be to begin to discuss the following week’s material – including a take-home quiz that they might have.  A “fourth” answer would be to begin to review them for the final exam.  A “fifth” answer would be to print off any powerpoints from 300 that you think might be useful (e.g. 300Slides14Regression3 – slides 15-19 on comparative politics – would fit nicely with your other output on the impact of political parties).   You might also use 300Slides5DiscripCrossAssoc2 – slides 11-19 and 300Slides9ResearchDesignTufte. 
Week 10 (115-129)
>>>>> Findout What Days/Times the SPA Computer Lab 

is Available to Students – In Class, Tell them the Days/Times 
At About Week 10 Calculate and Distribute an Estimated Grade

>>>>1. Discuss Last Week’s Quiz<<<<<
2. Take-Home Quiz on Multiple Regression - Part of this week’s quiz 

is to be done at home.   Suppose you were interested in the United States becoming a more economically egalitarian nation.  If so, how would you access the data on pages 328-330?  What results would you find favorable?  Why?  What results would you find unfavorable?  Why?  I do not want you to interpret specific regression results.  Thus, do not write something such as the following: for each one unit increase in … the support for repealing the estate tax decreases by some particular amount.  The interpretation of specific regression coefficients will appear on in class quizzes and the final exam. Instead, I want you to focus entirely upon “the big picture.”  Thus, what do these results suggest about the prospects for a more economically egalitarian United States?  Much of the data refer to the repeal of the estate tax.  The estate tax only applies to approximately the wealthiest 2% of estates (those of approximately $1,200,000, or more).  Thus, 98% of inheritances are too small to pay any estate taxes.  Make sure you work entirely alone. You can call me, but do not consult other students in the class, or other individuals, about the take-home quiz.

3. Go Over the Quiz they Just Submitted (pp. 372-374 in the text)

a. The regression coefficients are the relationship between 

that independent variable and the dependent variable, not a mean score on the independent variable (i.e., the .278 at the top of page 372 means that for a one increase on the scale for perception of your own tax burden being to high, your position on the support for repealing the estate tax increases by almost 3 tenths of one unit – it does not mean that 27 percent of respondents thought their own tax burden was too high). For the most part, the results are discouraging.  It is their own tax burden, not their perception of the fairness of the tax burden on the wealthy or the poor, that is important (top of p. 373 further substantiates the view that concerns about the distribution of income, etc., don’t matter).  Notice that those desiring greater government spending are more likely to want to remove the estate tax (how do we pay for it?).  Partisanship matters, but family income doesn’t. Notice also that in both the “death tax” and pooled version, conservative ideology is positively associated with estate tax removal, even after removing the impact of partisanship. From the bottom of page 373 notice that increased information moves people in different directions (i.e., has different signs).  For those who think the income gap is larger and that it’s a bad thing, increased information reduces their support for removing the estate tax (-.828) and has the opposite impact (.820) on those who say the gap is not larger or that this isn’t bad.  From the bottom of page 373 notice that Republican party affiliation is still highly significant regardless of whether the respondent thinks the income gap between the poor and rich is greater today and that this is “bad” or they either don’t think it’s great, or don’t think this would be bad – regardless, Republican party affiliation is still significantly supportive of estate tax removal.  The only “hopeful” sign is that among those who think the gap is larger today and that this is bad, the more informed, the less supportive of estate repeal they are.  Relatedly, from p. 329, the more informed the more likely they are to think the gap is larger and to think this is a bad thing and perceive that the poor don’t get a fair trial.  Thus, political information helps egalitarianism. Basic Problem: mis-information hurts liberalism – people overly upwardly identify – downplay roll of luck –misperceive Canadian Health Care System.  

4. Multicollinearity – In words, what is Multicollinearity?  Why Care?
a. Importance of Model Specification – the impact of one 

independent variable can greatly increase, or decrease, depending upon what other independent variables are included.  Look at the impact of GNP on pp. 261-262 – initially shrinks in value as other independent variables are added, but increases in value somewhat on the bottom of p. 262.  Thus, a relationship between a particular independent variable may be suppressed unless another independent variable appears in the equation (i.e., is controlled for).  Alternatively, the addition of another independent variable may reduce the magnitude of a previous relationship.  

1. Pp. 261-262: Notice how GNP becomes less 

significant until some additional economic variables enter on the bottom of p. 262.

b. High Multicollinearity – Lewis-Beck, Applied Regression,  

pp. 62-63;

1. Juan Peron Example (pp. 62-63 of Michael S. Lewis-
Beck, Applied Regression)
a. Setup – Who was Juan Peron?  (former 

president of Argentina)  Who is likely to

vote for Juan Peron? (workers and internal migrants)





1. Have them turn to page 269
b. Variables: Dependent variable is the percentage 

of the county vote for Peron in the 1946 Presidential election; X1 = urban blue-collar workers (as a percentage of the economically active population); X2 = rural blue collar workers (as a percentage of the economically active population); X3 = urban white-collar workers (as a percentage of the economically active population); X4 = rural white-collar workers (as a percentage of the economically active population) and X5 = internal migrants (as a percentage Argentinian-born males) Potential Ecological Fallacy – using county to generalize to individuals – however, individual level surveys probably unavailable in Argentina in 1946!

Results
.52 + .18X1 - .10X2 - .57X3 – 3.57X4 + .29*X5  

        (.43)     (.41)    (.43)     (2.54)      (.07) 

R2  = .24



Estimated standard errors in parentheses.



Interpretation

Only internal migrants seem to have any impact.  We are pushed to the conclusion that workers had no impact on the vote for Peron.  Since this is strongly opposed to our theory, we check for multicollinearity.  Discuss Page 270. The results of the “explained variance test” (i.e., the R squared from regressing each independent variable on all other independent variables is as follows: X1 = .98; X2 = .99; X3 = .98; X4 = .75; X5 = .32.  Ask Class what to do?
Discuss Page 271. Since X2 is the independent variable most explained by the others, we discard it and rerun the equation.  If, as in this case, several of the independent variables are almost perfect associated with each other, theory should dictate which one you remove.  We should also consider combining several of the independent variables into an index.  This could greatly reduce multicollinearity.  However, that would not seem to be a viable option here.  Also, there is no additional data we could collect (i.e., no additional counties to include). The results are as follows:

.42 + .28*X1 - .47*X3 – 3.07*X4 + .30*X5  

        (.07)     (.10)       (1.41)       (.07) 

R2  = .24

Estimated standard errors in parentheses.

Interpretation



All independent variables are statistically significant and signed as expected (blue collar workers and internal migrants are positively associated with the Peron vote while white collar workers are negatively associated with the Peron vote.  Notice that the coefficient value and standard error for migrant workers (X5) is virtually unchanged.  This is because this variable is not very collinear with the others.  The results of the “explained variance test” (i.e., the R squared from regressing each independent variable on all other independent variables is as follows: X1 = .29; X3 = .38; X4 = .20; X5 = .30 (remember that X2 was omitted from this equation.

2. Pp. 117-119 in Coursepack

c. Go to Page 195, mention what the variables are and ask 

them what independent variable Karl Marx would’ve thought would be most important?  Do the results support Marx? (no – median income isn’t significant) If Marx were in this class how might he use the information in this week’s reading assignment? (to see 
if median family income was insignificant due to multicollinearity)  How would pages 195-196 help him answer this question?  What do the results tell us? (the explained variance test results for median family income are in equation 4 on page 196 and show that only 26% of the variation in median family income is explained by conservatism and party affiliation – thus it isn’t multicollinearity that is likely keeping median income insignificant in equation 1 on page 195) What would Marx do now? (probably argue that either conservatism and party are a function of median family income or that income doesn’t matter due to a false consciousness) Do they think there should be mulitcollinearity?  Why or Why Not?  If “yes,” between which independent variables should there be multicollinearity?

d. Now ask them about the Logic of the Explained 

Variance Test - equations 2-4 on pp. 195-196 

1.VIF in Stata on the bottom of page 196 -  remember that 

it works off of regression, not logit, so they need to run their “main equation” with regression, press “enter” and then in the command line type: vif (and press “enter”)]

a . Note: It’s 1-(results in 1/vif column), not the 

results in the vif column themselves – see page 196.  Thus, do not report the results from the 1/vif column in your paper.
b. Note that the Stata manual suggests that “very high” 

multicollinearity would occur when about 85% of an independent variable is explained by all others (I had “high” multicolliearity as about 70%).  

e. Now go over the deletion test on pp. 206-207.

1. Explained variance test is better than the deletion test 

because it may be a combination of independent variables that are related to the one particular insignificant independent variable in question.  Thus, when you delete one independent variable and a previously insignificant independent variable now becomes significant, all you can judge is that it was related to the deleted variable.  Basic reason to use the deletion test is that the lack of desirable “goodness of fit” measure for dichotomous independent variables.

a. Pseudo R2 (or Likelihood Ratio Index) does 

not go as high as 1.0 and cannot be interpreted as the percentage of variance in the dependent variable explained by all independent variables together.

b. Show difference between R2 and Pseudo R2 on 

top of page 196.


f. USE PAGE 284 and Correlation Matrix on 



PAGE 283
5. Standardized Regression Coefficients 


a. Equation 1 on Page 195 has beta values on the right side.

1. Ask them how the computer calculated the beta 
values (i.e., p. 128). 

a. Try a little “fast math” (i.e., 31 – st. dev. of cons 

is about 110% of 28 – st. dev. of tax – and 10% of -.644 – unstandardized coefficient of cons in the “main equation” on p. 195 is a 
.06 and .06 + .644 is about .700 – isn’t that the value in the “beta” column on right side of page 195? Yes!)



2. Interpretation: Notice how “cons” becomes roughly 
3.5 times more important than “party” when the 

unstandardized coefficients (-.644 and 11.207) suggested a much different relative importance.  Ask why?  (what’s a “unit” of party vs. a “unit” of cons?)

6. Explain the Reason for Dummy Variables and Why You Use One



Less Dummy Variable than the Number of Categories

a. Explain the math on pp. 124-125 (doesn’t matter whether 

Democrats are “1” and the Republicans “0” or vice versa)

Might Now Use: (1) 300Slides14Regression3- slide 23; 

(2) 300Slides12Regression1 – slides 42-45

(3) Bartels, pp. 268 & 269
Table 1:  Model of County Vote Percentage for Boxer and Brown in the California Midterm Elections, November 2, 2010 & Boxer 2004
	Variable
	
	Boxer, 2010
	Brown, 2010
	Boxer, 2004

	% 25+ w/Bachelor Degree 

or Higher, 2000
	β

S.E.β

P>|t|
	.956***

.237

.000
	.937***

.214

.000
	.740***

.200

.000

	County Media Income (000s), 2005 dollars
	
	-.245
.157

.124
	-.327
.142

.057
	-.062

.156

.687



	% County Population 

that is White, 2005
	
	-.254**

.145

.012
	-.310**

.131

.004
	-.286**

.131

.007

	% County Population 

that is 65+, 2005
	
	-.164
.406

.081
	-.166
.367

.098
	-.130

.379

.195

	County Unemployment Rate, 2009
	
	.186
.455

.097
	.175
.411

.142
	.141

.653

.252

	Constant
	
	58.4**

18.2

.002
	71.1***

16.5

.000
	65.8***

15.5

.000

	Adjusted R-Squared
	
	.65
	.60
	.61

	N
	
	58
	58
	58


* p < .05, ** p < .01, *** p < .001 (two-tailed test)
Week 13 (130-149)
Take Student Evaluations When You Cover This Material

1. Discuss Last Week’s Quiz

2. Discuss the take-home quiz they just submitted on 

heteroscedasticity.

3.Give them Cumulative Point Total on Quizzes (Deducting 

their lowest quiz)

4. Ask them what is an interaction term and why might we use it?

a. Use beta carotene and smoking to introduce interaction 

terms.

1. Thus, the impact of beta carotene on the probability of 

getting lung cancer turns of the level of smoking.  For non-smokers, beta carotene reduces the chance of lung cancer.  For smokers, it is “worse” than reducing the beneficial effect of beta carotene, it actually reverses polarity (i.e., for smokers, beta carotene actually increases their chance of getting lung cancer).


a. Marc Heatherington’s finding that the impact of 

attitude toward government action/solution for a problem interacts with political trust for conservatives (i.e., if liberals support the government plan, their level of trust has little impact on their support for government action whereas for conservatives, they need both to support the government plan and have a high level of political trust in order to favor government action) 
b. Page 132

c. Page 236

d. Page 218

e. Ask them: What is the “math” of an interaction term?

1.Explain the difference between an interaction 

model and a nonlinear model (nonlinear: the impact of X on Y changes as the level of X itself changes; interactive: the impact of X on Y changes as the level of some other independent variable changes)

f. Should there be an interaction term in the model

they are using in their term paper?  If so, between

what two independent variables? Why?


Mention that the Assumptions of Regression include what 

are termed “i.i.d” errors (“identical” – of equal width thus, homoscedastic and “independent” – not correlated in successive observations) 
5. Ask them what is heteroscedasticity and why should we care 

about it?

a. Looking at the model on p. 195 ask them if we should 

suspect heteroscedasiticity?  Why?



1. A heteroscedastic pattern in the residuals may 

suggest a reformulation of the model (e.g., omitted variable, interaction terms, etc.) and gives us a false sense of security – t statistics are too high, more likely to commit a type 1 error)




2. Ask them what type of error multicollinearity 

increases the chances of commiting? (type II)



b. Use pages 256-257  

c. Use pages 134-136 on Division Rule (why it’s a good social 

science theory as well as for heteroscedasticity)




1. Not functionally specific and great empirical 

generalizability (can be used for urban politics as well as comparative politics)

6. Ask them what is autocorrelation and why should we care 

about it?

a. Ask them: How is time-series data different than cross-

sectional data?

1. What is the advantage of time-series data relative

to cross-sectional data? (You know when the independent variable and dependent variable changed)



b. Now use pp. 261-263 to discuss autocorrelation.



c. Bottom pp. 267-268 (Hibbs/Dennis, APSR, 1988)

1. Explain the measures used (bottom p. 267 – note that 

The use of “logs” yields a percentage gap in income between the richest 20% and poorest 40% of households)

2. Equation 1 on p. 267. Why lags? (impact of 

Democratic administration is delayed by a year – formulate and pass a program plus time for it to take effect) If the Democrats are good for the poor, why a negative coefficient on “dempreslag”? (because a negative sign means lower inequality) What does a Durbin-Watson score of 2.05 tell us? (virtually no autocorrelation) Why a lagged value of the dependent variable as an independent variable? (because you are looking at change from a baseline – i.e., the previous level of inequality – obviously, last year’s inequality is a good predictor of this year’s level of inequality, we want to find if political variables matter after removing the level of inequality at which the time period began)

3. Equation 2 on p. 268.  How does Democratic strength 

in the Congress fare? (signed as expected but not quite significant)

4. Equation 3 on p. 268.  How do the political variables 

fare? What seem to be the important factors?  Why? (e.g., why would unemployment be important?) How do you think politics effects income inequality if both the political variables are insignificant once transfer spending and unemployment are controlled?  (Answer: we need a causal model – the political variables impact unemployment and transfer spending which, in turn, effect the degree of income inequality – this is the reason for next week’s reading assignment)



d. Journal articles on pp. 227-231.



Hibbs Bread/Peace Model (pp. 375-380)

I. Studying Elections by Using Aggregate Voting Shares as Opposed to


Individual Level Data

A. Ask them to explain the difference in the unit of analysis
1. Hibb’s dependent variable is the incumbent party’s 

percentage of the two-party vote (Ask them why we use two-party vote as opposed to percent of the total vote?)
II. The Bread and Peace Model


A. As mentioned previously, the dependent Variable is the incumbent


party’s percentage of the two-party vote. 
B. Go Over Independent Variables, Coefficients and Statistical 

Significance (Page 376)


1. Ask them to define real disposable income and why it would



be a better measure than inflation, unemployment, etc.?
2. Be sure to explain the “weighting” parameter and the 

significance of it being close to 1.0 (i.e., little, if any, discounting – thus it’s the average of change in real disposable income over the term, not the last few months like the political business cycle people have argued – e.g., Nordhaus)


3. Go over the graph on page 377 (vote share predicted by 

change in real disposable income alone) and ask them about “outliers” (1952 and 1968 – in each case the Democrats lost about 10%, or so, of the two-party vote due to war deaths) 



a. This is why Hibbs used a Cumulative Killed in Action




term in his final equation.

C. Go Over Bush Prediction (page 376) and show how close Obama 

(2008) was to the regression line (page 377)
1. Note: You can get a Very accurate prediction 6-9 months in 

advance of the election.  This would lead you to think that the campaign doesn’t matter.  How could the campaign matter and still have us get such an accurate prediction before the campaign really begins? (Answer: the campaign may be endogenous – i.e., the change in real disposable income impacts the quality of candidates that run, campaign contributions, and the quality of the campaign in general.)

D. Go Over the List of Additional Independent Variables that Don’t

Add Anything to the Predictive Accuracy of Change in Real Disposable Income and Cumulative Killed in Action (pp. 378-380)


1. This increase our confidence in Hibb’s model.
2. A particular additional independent variable might reduce 

the squared predictions errors for one election but would not improve the long-term predictive accuracy of the model.  “Ad hoc” models don’t help develop theory.
III. Retrospective vs. Prospective Voting

A. Again, note the lag operator is .91 (i.e., close to 1.0 – p. 376) which 

indicates that there is little discounting.
B. Also note that short-term “future oriented” (i.e., prospective) 

economic conditions (“expected change in family financial situation over the next year” and “expected change in business conditions over the next year and then the next 5 years” – see page 356) don’t improve the model. 
C. Additionally, short-term retrospective evaluations (i.e., family 

financial situation better today than a year ago; business conditions better today than a year ago - pp. 378-380) don’t improve the predictive accuracy either.  

D. “B” and “C” above are probably endogenous (i.e., caused by 

change in real disposable income).
Week 14 – Term Paper Due Next Week

I. Give Back Last Week’s Quizzes

II. Discuss Term Paper (from syllabus)
Let me mention some useful tips in writing the term paper: 

(1)Study the sample term paper very, very closely (e.g., 

organization of the paper - make sure you have an “Executive Summary,” that you name the four points of comparison before comparing the various policies on each of these points – see the top of page 356);
(2) Do not make statements that are judgmental and lacking in 
the nuance that careful policy analysis requires.  For example, the following statement was made in a paper comparing two different gun control policies.  “More importantly, Americans have shown that they are more than happy to stand by and let the government completely strip the Second Amendments rights away from Americans they find unsavory, solely based on a criminal past.”  You simply can’t make a statement such as the preceding sentence.   This type of statement signals to the reader that the author has lost any sense of objectivity.  

Think in terms of gradations rather than “all or nothing.” Thus, use “more or less” instead of “good or bad.” The use of highly nuanced statements shows greater sensitivity in analytical thought.  For example, rather than saying a policy “won’t work” say something such as “the incentives in the policy seem too small to generate the degree of change the policy framers intend.”  

(3)Make sure that the body of your paper has a reference to 
both Appendix A and Appendix B.  Thus, when the reader arrives at the two appendices, they should know why the appendices appear.  Notice that on page 361 there is a rationale for both Appendix A and Appendix B in the body of the paper itself.  If one of your policy comparisons involve political feasibility, that is an ideal spot to mention the appendices.  For example, two sentences such as the following might be useful to place in the policy comparison section of the paper: Since citizen policy attitudes may impact the types of policies elected officials adopt, estimating citizen policy preferences is important.  Estimating public policy preferences can be accomplished both by formulating new survey questions (see Appendix A) and by analyzing either prior surveys or demographic data (see Appendix B).  Even if political feasibility was not one of the four criteria for comparing policies, you could still mention that political feasibility is important since it impacts the likelihood either of adopting the policy or keep an existing policy in operation.  Thus, you could still use the above discussion of the desirability of estimating political feasibility as a justification for both the two appendices to the paper.  Additionally, there should be an introduction to each appendix that appears at the beginning of the appendix itself (e.g., notice the first paragraph on page 363 for Appendix A and all of page 365 for Appendix B). Also, notice that the final sentence on page 365 provides a reason for the statistical technique used in Appendix B.  Since your dependent variable may be measured differently than the dependent variable used in Appendix B of the sample term paper, you may need to use a slightly different sentence.  For example, if your dependent variable is a percentage then the appropriate statement would be as follows: Since the dependent variable is a percentage regression is used to estimate the results.  Review pages 342-345 to make sure that you have used the correct estimation procedure and have stated the rationale correctly in Appendix B of your term paper. 

(4) If you use the term “efficiency” you need to explain the goal 

(i.e., Efficient for what?)  Efficiency simply means the 
greatest accomplishment of a goal at the lowest price for that level of goal attainment.  Until a goal is specified, efficiency has no meaning.  For example, in an analysis of two agricultural policies, someone wrote: “The United States needs to reevaluate their policies on agricultural subsidization in order to increase the efficiency of the payments and reduce the negative effect on developing nations.”  How do you measure the “efficiency” of a payment?  If the goal is to have the greatest number of American farms profitably operating for a given amount of money spent on subsidies to American farmers, then the measure of efficiency would be the number of farms operating per a given amount of money spent.  Thus, if the U.S. Government spent $2,000,000,000 on Policy A and this resulted in 200,000 farms operating in the U.S. while the same $2,000,000,000 spent on Policy B would only result in 175,000 farms operating in the U.S. then Policy A would be more efficient than Policy B.  However, if the goal of American farm policy was to reduce world hunger, the measure of efficiency would be the per dollar impact of American farm policy on world hunger.  Since American farmers are subsidized and many farmers in developing nations are not subsidized, American farm subsidies may increase world hunger by reducing the output of farmers in developing nations.  In such a situation, the measure of efficiency would be much different than it would if the goal of the policy were to maximize the number of American farms in operation.  From the standpoint of reducing world hunger, the most efficient American farm policy would be whichever policy produced the lowest amount of American crops per dollar spent. From the standpoint of reducing world hunger, a very expensive American policy that was wasteful in terms of production (i.e., had a very high dollar cost per unit of additional American agricultural output) would be more “efficient” than a policy that had a lower dollar cost per additional unit of American agricultural output.   This would occur because the lower the American agricultural output, the less farmers in developing nations would be adversely affected by American farmers.  Thus, from the standpoint of “cost per output” you need to specify whether the goal is the total output of American farmers, total world agricultural output, or the output of farmers in developing nations.  These are three very different goals.  More efficient policies for one goal would be less efficient for other goals. 

(5) Make sure to run spell check.   

III. LOGIT/PROBIT

1. 150-153
2. Top of Page 196 shows the difference between a logit 

equation and a regression equation on a dichotomous dependent variable – also notice the difference between the Pseudo R2 and R2

3. Discuss “logit line” on page 248.


4.Logit vs. Probit – pp. 161-163
5.Explain that the Pseudo R2 (pp. 159-160) is the same as the 

a. Logic of Pseudo Rs – like R2 how much improvement 

was our model vs. a “null” model (i.e., no independent variables)



b. Work Pseudo R2 on Page 164



c. Interpretation on p. 159

III. Discuss Multi-Equation Models 


A. Logic of Causal Model:




a. Ideology, Party and Gender as predictors of a legislator’s


scores on a support for women’s issues scale (i.e., a model of “direct” effects – like the model in their term paper).

b. Suppose Gender is statistically insignificant.  We are pushed

to a conclusion that the gender of the legislator has no impact on their votes on women’s issues.  

c. Ask them why the results might well show gender of the 

legislator statistically insignificant?  Answer: it’s logically prior to their ideology and party affiliation.  Thus, the impact of gender on legislator voting on women’s issues is probably “indirect” (i.e., felt through party affiliation and/or ideology).  Gender might be a predictor of both party and ideology which, in turn, are predictors of voting on women’s issues.  That’s the logic of a causal model.  Now use pages 259-260 and 166-167.



d. The number of equations is equal to the number of variables 

with arrows pointing toward them (i.e., dependent variables).



e. Now explain that a potential limitation of causal models is 

“reverse” causality (i.e., that the dependent variable might impact the independent variable) is ruled out (as it is in the one-way causation model they have used in their term paper). 


B. Logic of Simultaneous Equations Model:
a. Have them turn to pages 174-175.  As the discussion leading 

up to pages 174 suggested, if each of the variables on pages 174 logically have relationships in both directions (i.e., are both causes “of” and caused “by” each other) then we cannot obtain estimates of the relationships if we ask the computer to estimate equations 13,14 and 15 on page 174.

1. The reason is that we have asked for too much 

information relative to the amount we have supplied.  Thus, if X + Y = 7, then X and Y could assume an infinite number of different values.  We need a unique value (not for X or Y, but for the “b” coefficients that go with them).

2. However, if we could reduce what we asked for to just 

X = 4, we would have a unique value for X (i.e., 4).  The discussion in the text is either about how we reduce what we ask for or provide more information relative to what we ask for.  As the model on page 175 suggests, the way to do this is too “rule out” a series of relationships (i.e., there is no arrow running from party id of the voter to the party id of the voter’s father – we assume that “path” is “0” - it is “known” to be 0 so we don’t have to estimate it – thus, we are “supplying information”).  The only other possible way to reduce what we are asking for would be to persuasively argue that the error terms in the different equations are unrelated (possible, but highly unlikely).  For example, couldn’t a person’s religion be related to both their party identification and their issue positions?  Certainly!!  Since we don’t have religion in the model on page 175, it would be part of the error term of each equation.  Thus, the error terms from Equations 16-18 on page 175 are probably related.  Hence, our approach is to use the “Z” variables (exogenous variables – i.e., determined “outside” the model).  Each “Z” variable does not appear in all three equations and there are no reciprocal – i.e., two-way relationships – involving any of the Z variables – thus the “Z” variables are not endogenous variables – not determined within the model such as X1, X2 or Y).   The order condition, mentioned on page 174, tells us whether we are asking for more information than we can legitimately ask for on the basis of the information we provided.  All three equations on page 175 can be estimated (i.e., are “identified”).  Use pages 176-178 and then pages 242-244. 

MIGHT CONCLUDE THE EVENING B USING PAGES 227-234 and Bartels, pp. 273, 278
EXTRA MATERIAL

Week 12 – Pages 150-164; 185-189 (Public Law Article – Probit)
I. Give out in class quiz asking “Why use logit instead of 

regression?” (no diagrams – only words)

II. Hand back old quizzes – on last weeks quiz, some did

Not interpet the coefficient on page 328 and 330 as regression coefficients but rather as percentage entries in a cross tabulation table
III. Public Law Quiz – Go Over Probit Table

A. Remind them of the logic of multivariate analysis – the 

author didn’t “control” in Table 1
Week 11 (150-164, 185-189  – the week they receive the statistical 

results)
1. Go Over Last Week’s Quiz 


2. Take-Home Quiz on Probit: Part of this week’s quiz is to be done at home.  How do the multivariate probit results in Tables 2 and 3 (pages 186-187) compare with the results in Table 1 (page 185) that you utilized earlier in the semester?  Thus, given the findings in Table 1, are the findings in Tables 2 and 3 what we would expect? In Tables 2 and 3, the “MLE” column is what we have typically referred to as “b” and the “MLE/S.E.” column is the t ratio.  The coding for the variables is explained in the article. Make sure you work entirely alone. You can call me, but do not consult other students in the class, or other individuals, about the take-home quiz.
3. What was the main point of the reading assignment? What do all 

these techniques have in common?

4. Discuss the Quiz they just submitted.  Table 1 results are 

supported by Tables 2 and 3 (for “Public Opinion, Representation and the Modern Supreme Court” – remember that in Table 1, those are percentages whereas in Tables 2-3 the dependent variable is whether or not the court ruled in a manner consistent with majority or plurality public opinion – i.e., N of 110 and most variables are dummy variables – including the dep. Variable). Reduced form model justified by parsimony (trying to only deal with “important” predictors).   However, strong theoretical “priors” should overrule “parsimony.”

6. Explain that the Pseudo R2 is the same as the “LRI.”

a. Logic of LRI/Pseudo Rs – like R2 how much improvement 

was our model vs. a “null” model (i.e., no independent variables)


b. Work Pseudo R2 on Page 164


c. Interpretation of LRI on p. 159

d. Top of Page 196 shows the difference between a logit 

equation and a regression equation on a dichotomous dependent variable – also notice the difference between the Pseudo R2 and R2

7.Show them How to Standardize Coefficients – Possible for 
Appendix B of their Term Paper - pages 128, 154-155
8, Show them How to Do a “Magnitude Assessment” – Possibly for 

Appendix B of their Term Paper  - pp. 164 (output), 157-158 

10. Discuss “logit line” on page 248.

11. Go over Tables 2 and 3 of Public Law article (pp. 186-187).

How do the results compare with Table 1 (p. 185)?  Basically similar.   

 Go over journal articles: pp. 235-236 (logit), 217-219, 220-221, 222-

223 (probit), 232-234 (ordered and multinomial logit and probit), 237-238 (Hazard) and 223-224 (Event Count).  
3.Go Over Probit Quiz (i.e., the second table just featured cases 

of interest to that particular group and the third table –  probit used because the dependent variable is not a percentage but is rather a justices vote on each case - “combined column” indicates that group affiliation was never a statistically significant factor – “percent” refers to how lopsided the poll margin was and “type of issue” is dichotomous – either impacting that group or not – the case selection procedure of Table 2 as an independent variable – with “group listed third (i.e., race, gender, etc.) and group is never statistically significant.  Probit coefficients can’t be interpreted the same as regression coefficients (also the entries in the table are t statistics and not coefficients).


>>>>>> In Class Quiz on Global Forecasting Model Article

            

1. What is the dependent variable in the article I sent you to read for 




this week? This should be a one sentence answer.  No books!





2. What is the unit of analysis in the article I sent you to read for this 





week? This should be a one sentence answer.  No books!

4. “A Global Forecasting Model of Political Instability”
This article shows how the material you are learning has been applied to one of the most important topics confronting international relations and comparative politics: Why are some nations politically stability while others are politically unstable? The article was written by a combination of famous scholars (Gurr and Bates) and consultants to the Central Intelligence Agency (Lustik and Ulfelder).  It is important to note that while “area specialists” and “case-study” scholars are part of this study (e.g., Bates), the CIA did not rely exclusively on “case-studies” or scholars who do “case-studies.”  Clearly, the CIA felt that quantification over a broad range of nations would provide more rigorous examination of the theories of political instability than relying exclusively on the advice of area specialists (i.e., country experts).  Given the likely cost of the study, the CIA must have placed a considerable value on quantitative research in international relations and comparative politics.  Given that the consultants participated in the study, it would seem highly probably that the advice they gave the CIA concerning society instability was influenced, at least in part, by the results of this study.  This research is also important to the private sector.  Political instability can impact the profitability of private companies.
a. Purpose: (1) To identify factors consistently associated with 

the onset of political instability, and (2) to develop models that can accurately assess the relative vulnerability of countries to the onset of instability.  

stable and others unstable.  Two important theories examined: (1) internal strife is caused by the weakness of the state; (2) internal wars may be more motivated by opportunity (or greed) than grievance, and are affected by the availability of lootable resources (e.g., diamonds or other valuable minerals).     



b. Data and Methods: The dependent variable is the presence 
or absence of major political instability in a nation annually from 1955-2003.  Given that there were only 287 events of major political instability in the world (111 adverse regime changes – abrupt turns from a more democratic system to a more authoritarian system, 74 ethnic wars – at least 1,000 battle-related deaths due to conflict between organized challengers and government authorities, 62 revolutionary wars – same as for ethnic wars and 40 genocides/politicides – government targeting of specific communal or political groups for destruction) for this entire period of approximately 7,500 country-years (i.e., approximately 150 nations for 49 years each) this is what political scientists refer to as a rare events data set. This 287 total is further reduced to 117 because whenever two or more events in the same country occurred without an intervening period of at least 5 years of stability (defined as five years with no new event onsets and no continuing events) those events were “consolidated” into a single episode of instability with a single onset date, which was taken to mark the shift from a period of stability to instability and because in 24 cases the authors could not obtain data that was clearly antecedent to the event onset (p. 9).   Alternatively, one could note that out of approximately 7,500 country-years there were only 1.88% of the observations on the dependent variable would be coded “1” (i.e., unstable) whereas over 98% would be coded “0” (i.e., stable – see pp. 4-7).  
Given a dichotomous dependent variable, logit is an appropriate statistical technique (as with the Senate vote in your term papers).  However, when over 98% of the scores on the dependent variable fall in one of the two categories, logit will consistently underestimates both the probability of the rare events and the impact of the independent variables.  A second and more important source of problems in analyzing rare events lies in how data are collected.  Given fixed resources, researchers must weigh the tradeoff between gathering more observations and including better or additional independent variables.  Fortunately, researchers can collect all (or all available) “1’s” and a small sample of “0’s” and not lose consistency (ask them what this means – the estimate of the “b” collapse to the “true” value as the sample size increases) and even much efficiency (as them what this means – the estimate of “b” is closer, on average, to the “true” value than with any alternative estimator). This procedure of selecting on the dependent variable also addresses a long-standing controversy in the international relations literature between qualitative and quantitative scholars.  Qualitative scholars devote their efforts where the action is (the conflicts) but draw criticism for introducing bias by selecting on the dependent variable (e.g., you need to compare unstable to stable nations, not just study unstable nations – i.e., little comparison – would be like studying legislation where every senator voted “yes” – which is why I required at least 20% of the senators voting on the losing side).  In contrast, quantitative scholars are criticized for spending time analyzing very crude measures on many observations that for the most part contain no relevant information. 
To reduce the sample of stable occurrences the authors used a case-control method which randomly matches unstable country-years with three sets of stable country-years selected at random from among countries that had been free of any instability for at least a seven year period – two years prior to and four years following the year of that country observation (p. 7). Thus, if one country in sub-Saharan Africa was unstable in a given year, the authors randomly selected three other nations in that same region that were stable for two prior and four years after the unstable country-year (p. 8).  Notice  that the authors use three control groups each following this same formula [i.e., ( 3 x  351) +  117 = the “N” of 1,170 – see p. 21).  When selecting on the dependent variable, we need to take care that make sure that the proportion of 1s and 0s in our samples care must be taken not to select on the independent variables differently for the two samples (i.e., the sample of stable and the sample of unstable country-years).  A classic example of this is selecting all people in the local hospital with liver cancer (Y = 1) and selecting a random sample of the U.S. population without liver cancer (Y=0).  The problem is in recognizing the implicit selection on X; that is, the sample of cancer patients selects on Y = 1 and implicitly on the inclination to find health care, find the right medical specialist, have the right tests and so on. Since the Y = 0 sample does not similarly select on the same explanatory variables, the data would induce selection bias.  One solution would be to select the Y = 0 sample from among those who received the same liver cancer test but turned out not to have the disease.  This would yield valid inferences only for the health conscious population with liver cancer like symptoms. Another solution would be to measure and control for the omitted variables.  Fortunately from the standpoint of international relations, bias in selection on X is much easier to avoid since a clearly designated census of cases from which to draw a sample is normally available.   Thus, instead of relying on the decisions of subjects about whether to come to the hospital and take a test, the selection into the dataset in international relations can often be entirely determined the investigator. (King and Zeng, Explaining Rare Events in International Relations, International Organization, Summer 2001, pp. 693-695, 700-701).       

In the current study, the authors matched by year and region.  Thus, the distribution of control cases and instability cases across time was the same. This design also ensured that the control set had the same proportion of cases from Latin America, East and South Asia, Europe, sub-Saharan Africa and North Africa/Middle East as the instability set (p. 8).  Relatedly, the authors were worried that the global model could simply be picking up on some hidden ways (i.e., omitted independent variables) in which rich and democratic nations in Europe and North America are far more stable than poorer and less democratic countries in, say, sub-Saharan Africa.  As the authors say, “Thus the global model might produce reasonable inferences about the stability of, say, Canada compared to Ethiopia; but it might be of little value in explaining differing levels of political violence among poorer counties themselves.”(p. 23).  This is the reason for examining just the most violent region, sub-Saharan Africa, alone (i.e., Table 2).  Generalizability seems high because “… the same factors that dominated the global model stand out, and do so even more strongly  (with the exception of infant mortality probably it is more of a “constant” – all nations “high” – rather than a variable). (p. 25)  
Discussion of independent variables – Only one-third of instability onsets occurred in countries with Polity scores of 0-7 (i.e., very low on a democracy scale); two-thirds still occurred in democracies and autocracies (p. 17 - relate to semi-repressive regimes – pp. 258-260 of the coursepack).  Therefore, it made sense to break apart the democracy scale into components that had greater explanatory power.  This lead to measures of executive recruitment (EXREC) and the competitiveness of political participation (PARCOMP).  Figure 3, and the surrounding discussion in the article (pp. 17-20) deal with the following measures (ask them what level of measurement is used? A – ordinal): Executive Recruitment (EXREC) - (1) Ascription (succession by birthright), (2) Ascription plus Designation (ascriptive and designated rulers co-exist), (3) Designation (informal competition within an elite), (4) Self-Selection (self-selection by seizure of power), (5) Transition from Self-Selection, (6) Ascription plus Election (ascriptive and elective rulers coexist), (7) Transitional or Restricted Election, (8) Competitive Election (formal competition among publicly supported candidates);

Competitiveness of Political Participation (PARCOMP) –

(1) Repressed (No significant oppositional activity is permitted outside the ranks of the regime and ruling party.  The regime’s institutional structure (totalitarian party systems, military dictatorships or despotic monarchies) must be matched by its demonstrated ability to repress oppositional competition.), (2) Suppressed [Some organized, political competition occurs outside government, without serious factionalism; but the regime systematically and sharply limits its form, extent, or both in ways that exclude substantial groups (20% or more of the adult population) from participation.  Suppressed competition is distinguished from factional competition by the systematic, persisting nature of the restrictions: large classes of people, groups, or types of peaceful political competition are continuously excluded from the political process (e.g., banning a political party that received at least 10% of the vote), (0 – that’s correct, not 3) Unregulated (political participation is fluid; there are no enduring national political organizations and no systematic regime controls on political activity), (3) Factional (polities with parochial or ethnic-based political factions that regularly compete for political influence in order to promote particularist agendas and favor group members to the detriment of common, secular, or cross-cutting agendas), (4) Transitional (any transitional arrangement from restricted to factional patterns to full competitive patterns, or vice versa – transitional arrangements are accommodative of competing, parochial interests but have not fully linked parochial with broader, general interests – sectarian and secular interest groups coexist), (5) Competitive (there are relatively stable and enduring, secular political groups which regularly compete for political influence at the national level – ruling groups and coalitions regularly, voluntarily transfer central power to competing groups – competition among groups seldom involves coercion or disruption).  In Figure 3 – dark orange (or red) cells represent full autocracies – regimes that combine an absence of effective contestation with repressed or suppressed participation (e.g., North Korea, China, Cuba, Saudi Arabia, and Sudan – p. 18 – i.e., “5,” or lower, on executive recruitment coupled with “1” (repressed) or “2” (suppressed) on competitiveness of political participation; light orange cells represent partial autocracies – which allow or hold competitive elections or allow substantial political participation outside the government’s control but not both (e.g., Cambodia, Jordan, Togo and Yemen – “6 – 8” on executive recruitment – i.e., more competitive and “0,” or “3-5” on competitiveness of political participation – but not both – i.e., either “1-5” on executive recruitment or “1 – 2” on political participation); light blue cells represent partial democracies – regimes in which top government officials are chosen through competitive elections and political participation is not effectively controlled by those officials, but that fall short of full democracy on one of those dimensions (e.g., Albania, Brazil, Ghana, and Turkey – “6-8” on executive recruitment – i.e., more competitive and “0,” or “3-5” on competitiveness of political participation – but not the combination of “8” on executive recruitment and “5” on political participation); the dark blue cell represents full democracy (i.e., the most democratic score on both executive recruitment – “8”- and political participation – “5” – all of Western Europe, Costa Rica, and Mongolia).       
Other Independent Variables: a series of variables the past scholarship would lead you to think would be important but weren’t (sudden jumps in inflation, excessive government debts, poor economic performance, excessive military spending, or ethnic heterogeneity -remember p. 134 in the coursepack – overlapping division rule). 
Findings: Rather, a simple model with regime type (partial democracies and partial autocracies were the most violent), infant mortality, four or more bordering states with major civil or ethnic conflict and state led discrimination, correctly classified just over 80% of the instability onsets and stable countries in the historical data (p. 10, Table 1, page 21-A).  Thinking that Africa might be different they used a bit different model (infant mortality was insignificant now because it was high in all these countries – thus, in effect a “constant” rather than a “variable,” and added trade openness – barely significant – the 25th percentile is 3 times more violent than being in the 75th percentile, colonial heritage – French heritage less violent, leader’s tenure – either 0-4 years or greater than 14 years were more violent, and the percentage of the population in the largest religious group – 65%, or greater percentage more violent).  These models correctly classified 87% to 95% of the of the instability onsets and stable countries (Table 2, p. 25-A).  The “big picture” is that regime matters most both in the world in general and Africa in particular.  This is why empirical testing is necessary, there is simply no other way we could have much confidence in asserting that factors thought to have influence don’t but that others do.
Statistical Model:

The authors use a “conditional” (rather than a the normal) logit model because we are not treating all 468 observations [117 unstable cases plus 351 – or three times as many – stable cases – the same 117 unstable cases are used in each of the three logit equations – thus the “N” of the entire three equations is (3 x 351) + 117 or 1,170 and not (3 x 468)] independently in each of the three logit equations estimated in Table 1.  Instead there are 117 groups of 4 each (i.e., one unstable case and three stable cases from the same region of the world as the unstable case) in each of the three logit equations.  Since the data are “grouped,” conditional logit is the appropriate technique. The “neural networks” and Markov processes were undertaken because many variables move in a nonlinear manner over time.  As the authors pointed out, such models did not improve performance. 

5. Term Paper:
a. Explain that the Pseudo R2 is the same as the “LRI.”

b. Logic of LRI/Pseudo Rs – like R2 how much improvement 

was our model vs. a “null” model (i.e., no independent variables)


c. Work Pseudo R2 on Page 164


d. Interpretation of LRI on p. 159

e. Top of Page 196 shows the difference between a logit 

equation and a regression equation on a dichotomous dependent variable – also notice the difference between the Pseudo R2 and R2



f. Discuss “logit line” on page 248.

g. You need to explain the logic of the model you’re testing in 

Appendix B (coursepack pp. 365-367).
i. Multicollinearity is only a potential problem for insignificant 

independent variables where 70%, or more, of the variance in that independent variable is explained by all the other independent variables (pp. 121, 345-346).  Discuss in a footnote.  Do not use 1/vif score but rather subtract the 1/vif entry from 1.0 (bottom p. 196) and then say what percentage of the variance in that independent variable was explained by all other independent variables.

j. Just Because an Independent Variable is Significant Doesn’t 

Necessarily Mean the Hypothesis is Supported (the sign could be opposite to what it should have been)

1. Similarly – an insignificant result can still be in the 

hypothesized direction.

 Go over journal articles: pp. 235-236 (logit), 217-219, 220-221, 222-

223 (probit), 232-234 (ordered and multinomial logit and probit), 237-238 (Hazard) and 223-224 (Event Count).  
>>>>>> Tell Them to Get Adobe Acrobat (www.adobe.com – find 

the “free version”) – I’m going to replace a reading assignment with two articles in Adobe Acrobat format
EXTRA MATERIAL (Includes 
material for the tables on Pages 368-374
1. Discuss Last Week’s Quiz

2. Take-Home Quiz on Interaction Terms and Causal Models - Part of 

this week’s quiz is to be done at home. Using an example from one of your two examination fields, specify and defend a model which you think would be best represented by the use of interaction terms (but no indirect effects) or by indirect effects (but no interaction terms). Use at least four independent variables.  Obviously, you will also need a dependent variable.  Most importantly, defend your choice of models.  If you select the interactive model, be sure to explain which independent variables you think would interact.  Additionally, explain why you think this model is better thought of as interactive and not causal.  If you select a causal model, explain which variables should have direct and/or indirect effects on which other variables. Moreover, explain why you think this model is better thought of as causal and not interactive.  Do not use an example from the Coursepack!  If your principle sub- field is political theory, formulate an example from your other examination field (or field in which you are taking courses). Make sure you work entirely alone. You can call me, but do not consult other students in the class, or other individuals, about the take-home quiz.  


3. Go Over the Quiz the just submitted.


4. Ask them: Why we would use a causal model



or a simultaneous equations model? 


5. Logic of Causal Model:



a. Ideology, Party and Gender as predictors of a legislator’s


scores on a support for women’s issues scale (i.e., a model of “direct” effects – like the model in their term paper).

b. Suppose Gender is statistically insignificant.  We are pushed

to a conclusion that the gender of the legislator has no impact on their votes on women’s issues.  

c. Ask them why the results might well show gender of the 

legislator statistically insignificant?  Answer: it’s logically prior to their ideology and party affiliation.  Thus, the impact of gender on legislator voting on women’s issues is probably “indirect” (i.e., felt through party affiliation and/or ideology).  Gender might be a predictor of both party and ideology which, in turn, are predictors of voting on women’s issues.  That’s the logic of a causal model.  Now use pages 259-260 and 166-167.


d. The number of equations is equal to the number of variables 

with arrows pointing toward them (i.e., dependent variables).


e. Now explain that a potential limitation of causal models is 

“reverse” causality (i.e., that the dependent variable might impact the independent variable) is ruled out (as it is in the one-way causation model they have used in their term paper). 


6. Logic of Simultaneous Equations Model:
a. Have them turn to pages 174-175.  As the discussion leading 

up to pages 174 suggested, if each of the variables on pages 174 logically have relationships in both directions (i.e., are both causes “of” and caused “by” each other) then we cannot obtain estimates of the relationships if we ask the computer to estimate equations 13,14 and 15 on page 174.

1. The reason is that we have asked for too much 

information relative to the amount we have supplied.  Thus, if X + Y = 7, then X and Y could assume an infinite number of different values.  We need a unique value (not for X or Y, but for the “b” coefficients that go with them).

2. However, if we could reduce what we asked for to just 
X = 4, we would have a unique value for X (i.e., 4).  The discussion in the text is either about how we reduce what we ask for or provide more information relative to what we ask for.  As the model on page 175 suggests, the way to do this is too “rule out” a series of relationships (i.e., there is no arrow running from party id of the voter to the party id of the voter’s father – we assume that “path” is “0” - it is “known” to be 0 so we don’t have to estimate it – thus, we are “supplying information”).  The only other possible way to reduce what we are asking for would be to persuasively argue that the error terms in the different equations are unrelated (possible, but highly unlikely).  For example, couldn’t a person’s religion be related to both their party identification and their issue positions?  Certainly!!  Since we don’t have religion in the model on page 175, it would be part of the error term of each equation.  Thus, the error terms from Equations 16-18 on page 175 are probably related.  Hence, our approach is to use the “Z” variables (exogenous variables – i.e., determined “outside” the model).  Each “Z” variable does not appear in all three equations and there are no reciprocal – i.e., two-way relationships – involving any of the Z variables – thus the “Z” variables are not endogenous variables – not determined within the model such as X1, X2 or Y).   The order condition, mentioned on page 174, tells us whether we are asking for more information than we can legitimately ask for on the basis of the information we provided.  All three equations on page 175 can be estimated (i.e., are “identified”).  Use pages 176-178 and then pages 242-244. 


Remember, the term paper is due next class meeting (i.e., 5/9). Do not forget to analyze the five largest residuals (see pages 274-275).

Week 14 (140-149)

>>>>> Give Out Assessment Test <<<< 


1. Discuss Last Week’s Quiz


2. Review any time-series articles you haven’t previously discussed.



a. pp. 227-231

3. Review any discrete choice model articles you haven’t previously



discussed.

a. Pp. 248, 217-219, 222, 223-224, 232-234, 235-236, 237-238


4. Review for the final exam.

Table 1

Summary Statistics for the United States and Europe

                                            Europe                                      United States



Mean    St. Dev.   Min.   Max      Mean  St. Dev.  Min.   Max

Income Inequality1  .303       .044       .229   .430        .337      .031     .271   .446

Unemployment        .083       .042      .002   .220        .067      .023     .033   .119  


Rate

1Gini Coefficient: 0 = perfect equality, 1 = perfect inequality (i.e., one 

household has all the income)

Table 2 - Happiness in Europe
Table 3 - Happiness in the United States
Attitudes toward Redistribution in the United States
Questions: (1) Does this change over time in a manner you would expect?  

(2) Are the differences by region what you would expect? 

(3) Do respondents select the “anchor” positions (i.e., 1, 4 and 7) 

more frequently?

Average Hours Worked Versus Percent Protestant
Questions: (1) How do you interpret the numbers on the Percent Protestant 

axis (e.g., .4)?  (2) By what theory would someone construct this table (i.e., look for a relationship)?  (3) What do the results suggest?  (4) Does the ecological fallacy pose a problem here?  Why?  

Relationship Between the Median Voter

and Distribution of the Vote Between the Parties

Self-Interest, Political Values and Support for Repealing

the Estate Tax

Note: estimated standard error are in parentheses.  In the “Estate tax” column, the dependent variable is the respondent’s answer to the following question: There has been a lot of talk recently about doing away with the tax on large inheritances, the so-called “estate tax.” Do you favor or oppose doing away with the estate tax?  Possible answers: 1 – strongly oppose; 2 – oppose somewhat; 3 – favor somewhat; 4 – strongly favor.  Half the respondents were asked the preceding question about the estate tax, while the other half were asked the same question but replacing estate tax with “death tax.” In the “Pooled” column, the results are based on all respondents.  Many of the independent variables use a –1 to +1 coding scheme.  Minus 1 is always the response most opposite the trait mentioned and plus 1 the closest.  For example, a respondent who scored –1 on “own tax burden” would say that they paid less in taxes than they should, 0 indicates they felt they paid the right amount while a score of +1 indicates they felt they paid too much in taxes.  The other two tax burden questions are coded the same way. The other –1 to +1 scales are as follows: Government Spending Preferences  -1 = prefer less government spending, 0 = about right, +1 = prefer greater government spending; Conservative Ideology –1 = liberal, 0 = moderate, +1 = conservative; Republican Party Identification –1 = Democrat, 0 = Independent, +1 = Republican.  A family income of $30,000 is read as “30.”  

Political Information and Support for Repealing the Estate Tax

See the previous page on variable coding.  The closer the respondent’s score is to “1” the more political information they have. In the first column of results, the dependent variable is the respondent’s degree of support for repealing the estate tax (see coding scheme on previous page).  In the second column, the dependent variable is the same but the analysis is only done on those respondents who say the income gap between the poor and rich has become larger in recent years and that this is a bad thing.  The third column has the same dependent variable, but the analysis is only performed on those respondents meeting the conditions specified at the top of the column. 

For the independent variables, the coding scheme is the same as discussed over the past two pages.  In the first column the dependent variable is the respondent’s view of the income gap between the poor and rich today as opposed to 20 years ago.  The coding scheme is as follows:

smaller today than 20 years ago = -1, same as 20 years ago = 0, larger today = +1.  In the second column the dependent variable, asked only for those who thought the income gap is larger today than 20 years, is how desirable they think this larger income gap is.  The coding scheme is as follows: -1 = a good thing, 0 = haven’t thought about it, +1 = a bad thing.   In the third column the dependent variable is the respondent’s position on the notion that a poor person has the same chance of receiving a fair trial as a wealthy person.  The coding scheme is as follows: -1 = thinks the poor have the same chance, 0 = neutral, +1 = the poor have less of a chance of receiving a fair trial than the wealthy.

The Relationship between POSC 550 and Policy Analysis Readings

I. POSC 550
A. POSC 550 teaches the statistical skills necessary to read major


general political science journals (e.g. APSR, AJPS and 

JOP) and to undertake research.


1. One of the goals of our program is to expose students to the 

various major approaches to studying political science.



a. Students are earning an M.A. in “political science,”




not in non-quantitative political science. 



b. Students need to actually understand how 

quantitative research is done and be able to read it in all sub-fields except political theory, not to merely discuss the “possibility.” 




c. Current M.A. International Relations student Chris 

Castille is a perfect example.  He told me he wanted to read quantitative international relations articles, but was unable to before taking POSC 550.
1. If you examine the 550 coursepack, you will see 

that the examples are liberally drawn from every sub-field in the discipline except political theory.  Even theorists have to have a “second field.”  

2. Addtionally, the articles read for the course 

include several directly applying quantitative techniques to the study of public policies in International Relations, Comparative Politics and American Politics.


2.  This is particularly important in a department which is not



not very quantitative.



a. Non-quantitative faculty should welcome POSC 550 – 

it provides examples and taps into literature in their fields that they themselves are highly unlikely to cover.  Hence, 550 provides a much more “complete” examination of political science research than students would have without it.

1. Given the orientation of most all of the 

department, without POSC 550, students simple would not understand how to read such literature, or, equally importantly, be exposed to how quantitative analysis contributes to political knowledge.  

2. To pick only two (of many) examples - there are 

voluminous quantitative literatures in international relations and political development/violence that are covered extensively in 550 and are in sub-fields where we have non-quantitative faculty.  I think this illustrates why 550 is in a very important part of more well-rounded M.A.

b. Students may well have an interest in quantitative 

work which will only come out once they are exposed to it.  That was certainly the case with me.


3.  Relevancy for their careers is also an Important 

Consideration



a. Remember at the undergraduate level, within 5 years 

of graduation, over 50% of the students work in private industry.




b. Also, for those working in the public sector, the ability 

to read and interpret quantitative analysis is becoming ever more important with the increased collection of data and ready availability of statistic packages on PCs.




c. For example, two of the authors of “A Global 

Forecasting Model of Political Instability,” Michael Lustik and Jay Ulfelder, work for Science Applications International Corporation, a consulting firm and, in 2003, the ninth largest contractor with the Department of Defense.  They also are consultants to the National Security Agency and the Intelligence Community.  It would be difficult to believe that their research findings have no impact on the advice they give U.S. policymakers. 

II. POLICY ANALYSIS 


A.  Many of Our M.A. Students are Concerned about the Career 



1. As Ryan Hiscocks, a current M.A. student who took the 

directed readings and policy analysis project course with me this past summer said, “You certainly struck a nerve when you raised the question of career opportunities with an M.A. in Political Science.”



2. For terminal M.A. students who are not already employed as 

either school teachers or in government, the M.A. they receive from us is very important to their ultimate career path. 



3. Their career options will be much greater by having a paper 

that shows them analyzing a current, or proposed, public policy with microeconomic concepts and moderately advanced statistical analysis that they can submit with job applications.


B. There is Not Enough Time in One Semester to Teach both 

Statistics (i.e., 550) and Policy Analysis 

1. These are separate courses in any Policy Analysis or Public 

Administration program.



2. The statistics text I use in the Policy Analysis readings, 

Welch and Comer, builds off of the statistical base they have from 550.  I could cover the material in both courses in one semester.


C. Given the Relative Normative Orientation of Political Science 

Students, I have Set this Readings and Application Course around Learning and Doing Policy Analysis as is Commonly Done in Government and Private Industry
1. Relative to students in other policy sciences, especially 

economics, political science students are highly likely to have good backgrounds in political theory, but much weaker backgrounds in the microeconomic and statistical skills that comprise much of policy analysis.



2. Accordingly, the readings and applications in this course 

are geared toward applied policy analysis.  Thus, it is not a course in “values and ethics” course.



3. If I were teaching the course to economists, I would 

organize it a bit differently.

